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UGC NET PAPER 2 NOVEMBER 24, 2021 SHIFT 2 SANSKRIT TRADITIONAL QUESTION PAPER

Topic:- Sanskrit_SHAAN_NOVZ1A

1) ‘morgrsoridconad Bifer Bigied o Qourcass: o Aaa?

[Question ID = 208][Question Description = S2_qSNz_PG_SNT_Q01]
1. oot [Option D = 829]

2. amarf #dee [Option ID = 830]

3. =l gemmes: [Option 1D = 831)

4. 3wz [Option ID = 832]
Correct Answer :-

* FmoormEt [Option (D = 829]

2) soqHfRarr: a8l Fazensgescar Agorsssia ~[Question ID = 209][Question Description = 52_qSNz_PG_SNT_Q02]
1, afse: [Option ID = 833]

2. wwgis: [Option 1D = 834]
3. angem: [Option (D = 833]
4. aedren: [Option 1D = 836]

Correct Answer ;-

& xaffa: [Option D = 833]

3) ‘sl aua:’ auiory amenfa -[Question ID = 210][Question Description = S2_qSNz_PG_SNT_QO03]
AEERE aeeRr @& [Option 1D = 837]

Fza It [Option 1D = 838]
arms 356 [Option D = 839]
arereon 36 [Option 1D = 840]

a2

Carrect Answer :-
® JENCE aEeRr wd [Option D = 837]

4) FrswrEn dawasa afmmei Taarei?[Question ID = 211][Question Description = $2_qSNz_PG_SNT_Q04]
1. zog: [Option ID = 841]
2. afém: [Option ID = 842]

3. famwy: [Option (D = 843]
4. anfse [Option 1D = 844]

Correct Answer :-

® o [Option 1D = 841]

5) ‘ac:' sreng @el g smfer -[Question ID = 212][Question Description = $2_g5Nz_PG_SNT_QO05]
1. giftraiceerefarg [Option (D = 845]

2. Rrgewmadeesr [Option 1D = 846]

3. ooy [Option 1D = 847
4. ubmwEnd [Option 1D = 848]

Correct Answer :-

e wiFmioreias [Option 1D = 845]

6) ‘&l gee @: graer?[Question ID = 213][Question Description = 52_qSNz_PG_SNT_Q06]

1. =g [Option ID = 849]

2. =g [Option 1D = 850]

3. = [Option ID = 851]

4. # [Option ID = 852]

Correct Answer :-

e =iy [Option ID = 849]

7) oo’ s o wfoemada ?[Question ID = 214][Question Description = 52_gSNz_PG_SNT_Q07]
1. gpomifir: [Option ID = 853]

2. srnfe Al [Option 1D = 854]

3. =y =i [Option ID = 855]

4. it [Option ID = 856]

Correct Answer ;-
e oprd: [Option (D = 853]

8) 'u a kiglussnfafenim:' @ smfa?[Question ID = 215][Question Description = S2_qSNz_PG_SNT_Q08]
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1. @i [Option 1D = 857)

2. dmerEwE: [Option |D = 858]
3. = [Option ID = 859]

4, e [Option (D = 360
Correct Answer :-

e i [Option ID = 857]

9) lomfeiliany @asi menge 39] sred Afda ?[Question ID = 216][Question Description = 52_qSNz_PG_SNT_Q09]

aresan [Option ID = 861]

Fpier [Option |1D = 862]
amn [Option 1D = 863]

FewIcapit [Option |D = 864]

N FUR S gy

Correct Answer :-

e s [Option ID = 861]

10) yerdzagigea agefucsa el ol 71l add ?[Question ID = 217][Question Description = 52_qSNz_PG_SNT_Q10]
1. ==iagt [Option ID = 865]

2. Bigagt [Option D = 866]

3. Bryerasi [Option ID = 867]
4. sl [Option ID = 868]

Carrect Answer :-

e At [Option ID = 865]

11) <ogwm: Fa=nisn wisRa?[Question ID = 218][Question Description = §2_qgSNz_PG_SNT_Q11]
1. guaft [Option |D = 869]

2. eeats: [Option 1D = 870]

3. swpzaigr: [Option ID = 871]
4. derafr: [Option ID = 872]

Correct Answer -
o gmiEn [Option (D = 869]

12) BrollalRany i Brpe oisia?

[Question ID = 219][Question Description = 52_qSNz_PG_SNT_Q12]
1. e [Option 1D = 873]
2. = [Option 1D = 874]
3. dfia: [Option ID = 875]
4, gmx [Option ID = 876]

Correct Answer :-
e ofo: [Option 1D = 873)

13) sismagzorsrArALliilaag gaer agmot anida -

[Question ID = 220][Question Description = 52_qSNz_PG_SNT_Q13]
1. w=em [Option ID = 877]

2. &3 [Option 1D = 878]

3. Bem: [Option 1D = 879]

4, zmzE: [Option 1D = 880]

Correct Answer :-
& Frm [Option 1D = 877)
14) "weter gitraeiy dont moasawidn o s gewraget asasaniir oy smfsa?[Question ID = 221][Question Description =
§2_qSNz_PG_SNT_Q14]
1. 12 [Optien ID = 881]
2. 15 [Option ID = 882]
3. 13 [Option ID = 883]
4. 14 [Option ID = 884]

Correct Answer -
e 12 [Option ID = 881]

15) srensiRFody RRIRAIAR SpeR1sil ol d?

[Question ID = 222][Question Description = 52_qSNz_PG_SNT_Q15]
1. sgmemt: [Option 1D = 885]

2. Friwest: [Option ID = 886]

3. Za=et [Option ID = 887]

4, smmEe: [Option ID = 888]

Carrect Answer :-

e sret [Option ID = 885)
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16) aensREoay wea e AerRuy o sEfa] Question ID = 223][Question Description = $2_qgS5Nz_PG_SNT_Q16]
1. e [Option D = 889]
2. ooy [Option ID = 890)
3. gErarigams= [Option 1D = 891]
4, epgemrsr [Option 1D = 892]

Correct Answer :-
o mgmiEr [Option D = 889]

17) wopeofon giiw scar uvereafor Ry safar?[Question ID = 224][Question Description = 52_qSNz_PG_SNT_Q17]
1. @ [Option ID = 893]

2. s [Option ID = 894)

3. == [Option ID = 895)

4, =iem [Option ID = 8%6]

Correct Answer :-
a & [Option ID = 893]

18) wrapra wiey srerem: Ty ?

[Question ID = 225][Question Description = S2_qSNz_PG_SNT_Q18]
1. T [Option 1D = 897]

2. wewme: [Option ID = 898]

3, wu [Option ID = 899]

4. w3 [Option 1D = 900]

Carrect Answer :-
& 7 [Option ID = 897]

19) arsiacaasgedsiAn 3ary ©: gedlaimn: 7[Question ID = 226][Question Description = 52_qSNz_PG_SNT_Q19]
1. zma: [Option 1D = $01]

2. #= [Option ID = 902]

3. grs: [Option 1D = 903]

4. o [Option (D = 904]

Carrect Answer :-
* @ [Option 1D = 901]

20) IEEcTITECIGIR TasEifcalentio] el el Femudreafd’ soere ol oregra @isel: ?

[Question ID = 227][Question Description = $2_qSNz_PG_SNT_Q20]
gret oeen [Option ID = 905]

gnett e [Option 1D = 906]

gosfiear [Option 1D = 907]

et gear [Option 1D = 908]

a2

Correct Answer ;-
o g gear [Option ID = 905]

21) Mwimcolararams udsyras=T g @ faft 7 Rogea?[Question ID = 228][Question Description = $2_qSNz_PG_SNT_Q21]
1. angdfafi: [Option 1D = 909]

2. foremfafan [Option 1D = 910]

3. ufsizRf: [Option ID = 911]

4. st [Option 1D = 912]

Correct Answer :-

e srpdihier [Option 1D = 909]

22) Mgt Alveuralusmizs ofifdaee] ?7[Question 1D = 229][Question Description = 52_gSNz_PG_SNT_Q22]
1. f&fwe [Option ID = 913]

2. fifem [Option 1D = 914]

3. w=aRewy [Option 10 = 915]

4. wfzauw [Option ID = 916]

Correct Answer :-

e fFReEE [Option 1D = 913

23) Ammmubsnargan doifegde: wiafacn?[Question ID = 230][Question Description = 52_qSNz_PG_SNT_Q23]
1. ffer [Option 1D = 917]

2. =i [Option ID = 918]

3. wiEr [Option 1D = 919]

4, uffmer [Option 1D = 920]

Correct Answer -
e Ffer [Option 1D = 917]
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24) FmaaimneHR spred eiefien?[Question ID = 231][Question Description = 52_qgSNz_PG_SNT_Q24]
1. T&Rewg [Option 1D = 921]

2. Byftrmr [Option ID = 922]

3. =gides [Option ID = 923]

4, waieeg [Option 1D = 924]

Correct Answer ;-

e ReE [Option 1D = 921)

25) areifeiRaay seporermariiesa qralkoaemguly wedoeea: [Question ID = 232][Question Description =
$2_qSMz_PG_SNT_Q25]

1. Sediel [Option D = 925]

2. @i [Option ID = 926]

3. =gt [Option 1D = 927)

4. 3z [Option D = 928]

Correct Answer :-

¢ Seried [Option D = 925]

26) yerraurcsenuf; ‘citcnadl’ dwemerayguiar o: ?[Question |D = 233][Question Description = 52_qSNz_PG_SNT_Q26]
1. wimEEEE: [Option ID = 929]

2. SFomarmeEn: [Option 1D = 930]

3. g [Option ID = 931]

4, dim: [Option ID = 932]

Correct Answer ;-

¢ wialrmEr: [Option ID = 929

27) e - gl greandlell oifteojg weag safe?[Question ID = 234][Question Description = 52_qSNz_PG_SNT_Q27]

g [Option 1D = 933]

amgarE, [Option 1D = 934]
w=EE, [Option ID = 935]
=z [Option (D = 936]

N O PE N o Y

Correct Answer ;-
e wieng [Option ID = 933]

28) = - doitnper skl wmure: widfaen?[Question ID = 235][Question Description = $2_qSNz_PG_SNT_Q28]
1. f@Rex [Option ID = 937]
2. Tyfer [Option ID = 938]
3. ulme: [Option ID = 939]
4, gt [Option 1D = 940]

Correct Answer :-

e ZRRr: [Option (D = 937]

29) 'dewa - uilsin - i sii gEaguly doeleur TR o [ Question ID = 236][Question Description =
§2_qgSNz_PG_SNT_Q29]

1. sagermE: [Option ID = 941]

2. Rmaroiart: [Option 1D = 942]

3. Jrearar: [Option D = 943]

4. acoeE: [Option 1D = 944]

Correct Answer :-

o mAEEER: [Option ID = 941]

30) dermaayERY SAlcaaRoR yada: o: 7[Question ID = 237][Question Description = $2_q5Nz_PG_SNT_Q30]
1. weamrt: [Option D = 945]

2. smmrt [Option 1D = 946]
3. Grarpiarh [Option 1D = 947)
4, geowmees: [Option 1D = 948]

Carrect Answer :-
e mmEr: [Option (D = 945]
31) 'araeril’ 1 #earr wean: of: ?[Question ID = 238][Question Description = 52_qSNz_PG_SNT_Q31]

1. wrmemrsr [Option ID = 949]

2. mgermmmming: (Option 1D = 950]
3. mogdmisms: [Option (D = 951]
4, mmgmeiuisme: [Option (D = 952]

Correct Answer ;-

e vpEmemrnr [Option 1D = 949)

32) ‘araeriica B vandl, FrEAlcIUIOrar 3SRTaAi o o vab, aelRmcaierad sfierRs Rrpa sk arrEvss whae
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Agroacelal s - gymeasivaz Berayas 7[Question ID = 239][Question Description = 52_qSNz_PG_SNT_Q32]
1. g [Option 1D = 953]

2. #izmsee [Option D = 954]

3. e [Option ID = 955]

4, wwenRsed [Option 1D = $56)

Correct Answer :-

& adaaeed [Option ID = 953]

313) semstyoay FuscBigrara sav son Reaf¥a ?[Question ID = 240][Question Description = 52_q5SNz_PG_SNT_Q33]
1. apeferr: [Option 1D = $57)
2. wmseelern [Option 1D = 958)
3. Faw=fioE: [Option ID = 959]
4. Fwgelierr: [Option 1D = 960]

Carrect Answer :-

s awgefieE: [Option 1D = 957
34) niwcelonean g witas wugeaaQuestion ID = 241][Question Description = $2_qSNz_PG_SNT_Q34]
sIerEwERR [Option 1D = 961]
elferet faer it [Option ID = 962)
. I =y - yeereieed] [Option 1D = 963]
4. T veaisaras o [Option 1D = 964]

ld fod =

Carrect Answer :-

» iRt [Option 1D = 961]

35) ud At bralSaRTHIFRIINGE]
HIdiforeaTaened fepzn fotaiqearz 2
zhr Rmehorasd ofiwe] gagssia adeefarisg ?

[Question ID = 242][Question Description = $2_qSNz_PG_SNT_Q35]
1. uofgsesia [Option ID = 965]

2. yrfiengsfar [Option ID = 966]

3. dlmeyiar [Option ID = 967]

4. wrgefter - argacegfer [Option 1D = 968]

Carrect Answer :-
» ygofgsgsia [Option ID = 965]

36) welcolasivgg Fierdic TIeIGelaaT selifoiRiady 6 aed HRpRIE FerimaRy o aftfas?[Question ID = 243][Question
Description = 5S2_qSNz_PG_SNT_Q36]

1. Rem: [Option 1D = 969]

2. Reio: [Option 1D = 970]

3, fdewn [Option ID = 971]

4, apmmE: [Option ID = 972)

Correct Answer :-

& @ [Option D = 969]

37) wmaedsay wiRmn wisia -[Question 1D = 244][Question Description = 52_qSNz_PG_SNT_Q37]
1. =mafmen: [Option 1D = 973]

2. amm: [Option 1D = 974]

3. Reeemer [Option 1D = 975]

4. Ffezne: [Option 1D = 976]

Correct Answer :-

s e [Option 1D = 973]

38) ' expdeiwaygiiin: IEccalirnait skplx o= oical ada J[Question ID = 245][Question Description = $2_qSNz_PG_SNT_Q38]
1. wreesmr [Option 1D = 977]

2. @rAgEsE [Option 1D = 78]

3. =l [Option 1D = 979]

4. megm [Option 1D = 980]

Carrect Answer :-
o meeesm [Option ID = 977

39) facaorerHdGRIE IPNEFHIEITT: B 6 Fazur safsa?

[Question ID = 246][Question Description = $2_qSNz_PG_SNT_Q39]
1. 3radaa: [Option 1D = 981]

2. wregFeEEt s [Option (D = 984]

3. wracgsmfurrs: [Option 1D = 983]

4. g [Option 1D = 934]
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Correct Answer :-
& grpdgoa: [Option 1D = 981]

40) frrmzafinmneny wrnsedf dicad uz: * holis o= Tl gEet?

[Question ID = 247][Question Description = $2_qSNz_PG_SNT_Q40]

1. ogrmers: [Option ID = 985]
2. =rFaramt: [Option 1D = 986]

3. ofdmmger: [Option ID = 987]

4. wrwatzrge: [Option 1D = 988]

Correct Answer :-
® cewngd: [Option 1D = 985]

41) @ & o fagfa - aead wa: -
A, of seen o gden a

B. sogf? arsieren

C. a4 gl

D. Hmeil arct

Al frped Riole -

[Question ID = 248][Question Description = $2_qSNz_PG_SNT_Q41]
1. Awd B [Option ID = 989]

2. Bud C [Option (D = 990]

3. Cwd D [Option ID = 991]
4. Awd D [Option 1D = 992]

Correct Answer :-
s Awd B [Option ID = 989]

42) @I g1 owadida - seamr 3+ -
A, FrDT:

B. mltson:

C. oKjeot:

D. aIoicoaleRIEIURART:

Al frped Riole -

[Question ID = 249][Question Description = $2_qSNz_PG_SNT_Q42]
1. Awd B [Option ID = 993]

2. Bud C [Option (D = 994]

3. Cua D [Option ID = 995]

4. Awd D [Option ID = 996]

Correct Answer :-
s Awd B [Option ID = 993]

43) aeRsRoay oe: geeiBmgel - RvRpsfafy ?

A, e
B. 2ard

C. st

D. meadl

Al frped Riole -

[Question ID = 250][Question Description = $2_qSNz_PG_SNT_Q43]
1. Awd D [Option D = 997]

2. Avud B [Option ID = 998]

3. Bud C [Qption 1D = 999]

4. Cw=d D [Option 1D = 1000]

Correct Answer :-

e A D [Option D = 997]

44) @1 g weaddky = -
A, Fpoen:
B. siame]
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€. foree:

D. ardtacdt

Fgfida Brred Rige -

[Question ID = 251][Question Description = 52_qSNz_PG_SNT_Q44]
1. Awd B [Option 1D = 1001]

2. Bwd C [Option ID = 1002]

3, C i D [Option ID = 1003]
4, Bud D [Option 1D = 1004]

Correct Answer :-
o AwiB [Option 1D = 1001]

45) @1 F1 sreeb-wag) w4 O -

A. grarek:
B. sfesly

C. seameas

D. murcas:

i frood R -

[Question ID = 252][Question Description = 52_qSNz_PG_SNT_Q45]
1. Awd B [Option 1D = 1005]

2. Bwa C [Option ID = 1006]

3, C e D [Option ID = 1007]
4, Awg D [Option ID = 1008]

Correct Answer :-

o Awi B [Option 1D = 1005]
46) gE¥ru: IKEIEL Wi o
A, Tk

B. g

C. gm

D. gifor:

T foreed Rige -

[Question ID = 253][Question Description = 5§2_gSNz_PG_SNT_Q46]
1. Bwd C [Option 1D = 1009]

2. Awd B [Option ID = 1010]

3. Awd D [Option ID = 1011]
4. Cwd D [Option ID = 1012]

Correct Answer :-
e Bwa C [Option ID = 1009]

47) forgotfeiliacy ol ol aBamdl Fa:
A, A

B. mwaar

C. wus:
D. e

E. srrss:

adfia Breed Rige -

[Question ID = 254][Question Description = 52_qSNz_PG_SNT_Q47]
1. Awa D [Option ID = 1013]

2. AwdiB [Option ID = 1014]

3. BeaC [Option D = 1015]
4. C g D [Option ID = 1016]

Correct Answer :-

# Avug D [Option ID = 1013]

48) germmar o ol Rendia?
A. apTegh:

B. Jrerisr:
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C. 3r:
D. st
i frood R -
[Question ID = 255][Question Description = 52_q5Nz_PG_SNT_Q48]
1. Awd C [Option ID = 1017]
2. Awd B [Option ID = 1018]
3. Cwi D [Option ID = 1019]
4, Bwi D [Option ID = 1020]
Correct Answer :-

o AwgC [Option D =1017]

49) RrrafaRaay o soywrwmBaeil Fa
A, BIRERT

B. szac:

C. olgmo:

D. armceatlar:
E. ojior:

T forped Rigge -

[Question ID = 256][Question Description = 5§2_gSNz_PG_SNT_Q49]

1. Awd B [Option ID = 1021]

2. Bwd C [Option ID = 1022]

3. Bwg D [Option ID = 1023]

4. D wd E [Option ID = 1024]

Correct Answer ;-

e 4w B [Option 1D = 1021]

50) “forr: ufen: offaifar onfing semeEilcoar ageassifel’ 3 AARIGAl FI 9G] DI T

A, ofteifer
B.
C. m=afm

D, oufirg

E., uftr:

HAZfexd frped Riope -

[Question ID = 257][Question Description = $2_qSNz_PG_SNT_Q50]
1. Awd C [Option 1D = 1025]

2. Awd B [Option ID = 1026]

3. Cwa D [Option ID = 1027]

4. Awa D [Option 1D = 1028]

Correct Answer -

e Awd C [Option ID = 1025]

51) worrplcen grpuikigy I Mam
A. agx

B. waa:

C. sister

D. fer:

Fgfida Brred Rigie -

[Question ID = 258][Question Description = S2_qSNz_PG_SNT_Q51]
1. Awg B [Option ID = 1029]

2. AwdC [Option 1D = 1030]

3, C e D [Option ID = 1031]
4, Bwd D [Option ID = 1032]

Correct Answer :-
a Avwd B [Option 1D = 1029]
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B. e
C. gt
D. gfm@fioq
e frood Rigpe -
[Question ID = 259][Question Description = 52_qS5Nz_PG_SNT_Q52]
1. Awd B [Option 1D = 1033]
2. AwdC [Option ID = 1034]

3, Bwd C [Option D = 1035]
4. Bug D [Option ID = 1036]

Correct Answer :-
e Awd B [Option 1D = 1033]

53) asrTaATcaeNT geraidrg ot Saa?
A, scacElere:

B. uzu:

C. TRIRaE:

D, sforagygerdt

T forped Rigge -
[Question ID = 260][Question Description = 5§2_gSNz_PG_SNT_Q53]
1. Awd B [Option ID = 1037]
2. Awd C [Option D = 1038]
3. Awd D [Option D = 1039]
4. Bwd D [Option ID = 1040]
Correct Answer ;-

e 4w B [Option 1D = 1037]

54) AaraafhmareRie SRRt o T -
A. amsshanf3esdg ssaa

B. ared s@amrmadia yicrason

C. foifdrmsia:

D. woerterel gohguianare=T:

adfia Breed Rige -

[Question ID = 261][Question Description = 52_gqSNz_PG_SNT_Q54]
1. Awd B [Option 1D = 1041]

2. CwiD [Option ID = 1042]

3. Buwa D [Option ID = 1043]

4. Awd D [Option ID = 1044]

Correct Answer ;-

® Avcd B [Option ID = 1041]

A. Repfepivor:

B. disior qrefer

C. rdimseia

D. difleasioa

HfTd forped Rige -

[Question ID = 262][Question Description = 5§2_gSNz_PG_SNT_Q55]
1. Awd B [Option ID = 1045]

2. Awd D [Option D = 1046]

3. AwdC [Option ID = 1047]
4. Bwi D [Option ID = 1048]

Correct Answer -
e AwdB [Option ID = 1045]

56) I - ddiREpGyioRr wicramaAtcen wresi Ko ?
A. Fderrad
B. wdariziiBrrasn
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€. Fagiarasn

D. gemmessoeas

E. wuaray

e frood Rigpe -

[Question ID = 263][Question Description = 52_q5Nz_PG_SNT_Qb56]
1. Awd C [Option ID = 1049]

2. AwdB [Option 1D = 1050]

3, C i D [Option ID = 1051]
4, D E [Option 1D = 1052]

Correct Answer :-
e Awg( [Option D = 1049]

57) asreifeiaayg onscHlel iz Rvs ?

A. arrafrene

B. asamsras

C. sgmeus

D. amgrae

E. aruismg

[Question ID = 264][Question Description = 52_qSNz_PG_SNT_Q57]
1. Awd B [Option ID = 1053]

2. Bwi C [Option ID = 1054]

3. AwdE [Option ID = 1055]
4, D E [Option 1D = 1056]

Correct Answer :-
o AwiB [Option 1D = 1053]

58) arsera walte - calte SN IR ISSIRI RIAER1?
A. gRiEE:

B. sien

C. Fmfr

D. arfdemn .
i frood R -

[Question ID = 265][Question Description = S2_qSNz_PG_SNT_Q58]

1. A=t C [Option D = 1057]

2. Bwg D [Option ID = 1058]

3. Bwg C [Option ID = 1059]

4. C ed D [QOption ID = 1060]

Correct Answer ;-

o AwgC [Option D = 1057]

59) a@miced Sia - Qe aRPEREIIFEN 3K O 30: 7
A, g

B. arsamar:

C. maur

D. arelarg:

E. Rcnma:

HAZfex frped Riop -
[Question ID = 266][Question Description = $2_qSNz_PG_SNT_Q59]
1. Bwe D [Option ID = 1061]
2. A C [Option ID = 1062]
3. Bua E [Option ID = 1063]
4. D wd E [Option ID = 1064]
Correct Answer ;-

e Bwd D [Option ID = 1061]
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A, FRNerIIEon

B. SHarEEEn

C. FTATNI G I0TIF ot
D, Fa=g3idasLr:

E. @81 - €120T - Aot
HAZfex frped Riop -
[Question ID = 267][Question Description = $2_qSNz_PG_SNT_Q60]
1. Awd B [Option ID = 1065]
2. Bug C [Option ID = 1066]
3. Cuw E [Option D = 1067]
4. Cwd D [Option D = 1068]

Carrect Answer :-
o Awd B [Option ID = 1065]

61) grornEraeRIRAdsEway & S giaeei 7a: ?
A. grpe: g

B. sforeer: gorn

C. srarpa: ger:

D. forea: geer:

e frood R -

[Question ID = 268][Question Description = 52_q5Nz_PG_SNT_Q61]
1. Awa D [Option ID = 1069]

2. Bwd D [Option ID = 1070]

3. Cex D [Option ID = 1071]
4. Awg C [Option [D = 1072]

Correct Answer :-
e AvwgD [Option D = 1069]

62) sreisRrsay B 71 sear sl Fo: ?
A. dfrgeradiarn arsensearn:

B. sflegeradiarn moollsear::

C. sanir sivadvil aranfivistar:

D. sz sfivaradvlt sreerfionseam:

e frood R -

[Question ID = 269][Question Description = 52_q5Nz_PG_SNT_Q62]
1. Awg C [Option ID = 1073]

2. AwdB [Option 1D = 1074]

3. Bwd D [Option ID = 1075]
4, AwgD [Option |D = 1076]

Correct Answer :-

o Awg( [Option D = 1073]

63) ensf¥way wad Taaser:?
A, diqiforrs:

B, areaides:
C. dorener:

D, Egaer

HfTd forped Rige -
[Question ID = 270][Question Description = $2_qSNz_PG_SNT_Qé63]
1. Awd D [Qption D = 1077]
2. Bud C [Option D = 1078]
3. Cwd D [Option ID = 1079]
4. Awd C [Option ID = 1080]
Correct Answer :-

e Awd D [Option ID = 1077]

64) agisBoay - @iy - 291 - o A aiRaean: ARIAT AT STIEAR AGIGE B 31: 7
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A. emyomr

B. gerrein

C. graeR:

D. amaf¥eE:

i frood R -
[Question ID = 271][Question Description = 52_q5Nz_PG_SNT_Q64]
1. Awd C [Option ID = 1081]
2. AwiD [Option ID = 1082]
3. Bwd D [Option ID = 1083]
4, Buwa C [Option D = 1084]
Correct Answer :-

o Awi( [Option D =1081]

65) sreitsfyway Aimeriergar goft - Rl . -

A, ot

B. smoror

C. sprom:

D, gierdt

T foreed Rige -
[Question ID = 272][Question Description = $2_qSNz_PG_SNT_Qé65]
1. Awd B [Option ID = 1085]
2. Bwd C [Option ID = 1084]
3. Cwa D [Option ID = 1087]
4. Awg C [Option 1D = 1088]
Correct Answer :-

e Awd B [Option ID = 1085]

66) deHICEIIAE Gol HE < Wdoer: 7 HHKiml afcre! Roga

ATfresT - | lenferes - I

A. Fanft gumTes ST I. £g, 2500

B. I sizmerz Rreres: I, £, 1200

C. Rivezforsy 11, 35s2: grzanr:

D. drroragere: IV. £ g, weeada: gr

[Question ID = 273][Question Description = 52_g5Nz_PG_SNT_Q66]
Tl BB 00 B

[Option ID = 1089]
2, A-NLB-IV,C-1,D-1

[Option ID = 1090]
Fois Bl Eeslll DN

[Option ID = 1091]
4, A-IW,B-N,C-1,D-1I

[Option ID = 1092]

e« A-1LB-IILLC-IV,D-lI
[Option ID = 108%]

67) A A AFIAy Aol GH -

eTIferepT - | lenfero - I
A. HESTIGIER |I. Fod

B. weeras I, azqf:
C.oaBer 1. srcerRona
D. fuxeh: Iv. for:

[Question ID = 274][Question Description = 52_q5Nz_PG_SNT_Q67]
1. A-1,B-1,C-1Il, D- IV [Option ID = 1093]
2. A-NILB-1V,C-1,D -1l [Option ID = 1094]

|3 A-IV,B-NI,C-11, D - [Option ID = 1095)
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| 4. A-1,B-1l,C-Ill, D -V [Option ID = 1096]

Carrect Answer :-
o A-I,B-I,C-Ill, D- 1Y [Option ID = 1093]

68) ar] DoT HE DI WALl 7

aiferet - | ezt - |

A. ferr | srrfafr

B. 4,32, 000 zitwauifin |l. svarriacR:
C. a=i Rt spgfcen o srafa 1, sferpprs Aretay
D. af¥aey a3 IRl sl of smfer V. af2ems:

Fgfer famed Rrgp -

[Question ID = 275][Question Description = $2_qSNz_PG_SNT_Qé8]
1, A-1,B -1, C-1,D-IV[Option ID = 1097
2. A-1,B-1l,C- I, D- IV [Option ID = 1098]
3. A-1,B-1,C- 1, D- IV [Option ID = 1099]
4. A-WV,B-1I,C-1,D- Il [Option ID = 1100]

Carrect Answer :-
o A-Il,B-1I,C-1,D-I¥ [Option 1D = 1097]

69) arelsfEaay dol J8 BT AFdotl:

aderest - | arfereT - ||

A. g1 - el |, Gepazet:

B. Saust: |l. wegor:

C. wlanzaet: I, greagerzet:

D. ssreiEemit V. grpe - Sy - wek:
Fgferd farped Rigg :

[Question ID = 276][Question Description = $2_qSNz_PG_SNT_Qé69]
1. A-1l,B-1V, C-1l, D- 1 [Option ID = 1101]
2. A-IV,B-1,C-Il,D -l [Option ID = 1102]
3. A-1,B -1, C-IV¥,D- I [Option ID = 1103]
4. A-Nl,B-1,C-IV,D - Il [Option ID = 1104]

Carrect Answer :-
o A-,B-IV,C-1l, D-I[OptionID=1101]

70) aFacTUTICIGIAR Dol e B3 WG 7

erfeTanT - | arferest -

A. arggeeifivR aean |, wereitagurn: Sm:
B. it 1. grgsraned a¥g
C. sraaadl Il, gremmavizri

D. w9 Faewal wema sosiel gaeendda IV. gegas: 3=

[Question ID = 277][Question Description = $2_qSNz_PG_SNT_Q70]
1. A-Il,B-IV,C-1,D -1l [Option ID = 1105]

2. A-1,B-1I,C-1V, D- 1l [Option ID = 1106]

3. A-1,B-1ll, C-I¥,D -l [Option ID = 1107]

4. A-1,B-1¥V, C-1l, D- Il [Option ID = 1108]

Correct Answer :-

&« A-Il,B-1IV,C-1,D- Il [Option ID = 1105]

71) AAAFRIYSBIONGHR Dol AT B Hddatl: 7

UGG rtert - 1

A. coaErgitea wad Refienet . sifroRfafe:
B. RafelRyory: |Il.sm1@:rmm
C. @i Fostom: . BrmRifr:
D. adisgrava g =@ R |IV. T
aditfia mftrt Rigr ¢

[Question ID = 278][Question Description = $2_qSNz_PG_SNT_Q71]
1. A-1,B-1V,C-Il, D - Il [Option ID = 1109]
2. A-Il,B-1I¥, C-Ill, D- 1 [Option ID = 1110]
3. A-1l, B- 1V, C- 1, D- Il [Option ID = 1111]
4. A-IV¥,B-1,C-1Il,D- Il [Option ID = 1112]

Correct Answer :-
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® A-1,B-1V,C-Il,D -l [Option ID = 1109]

72) 3q w1 T wea Ao ?

Fferent - | lenfereo - I

A, s Il shoreatorn:

B. =R |II. HANRIAART:

C. eifoafamd: 11, e - Adfr1BEr:
D. arciiRpwafsorod: IV. sm - ordse:

[Question ID = 279][Question Description = S2_qSNz_PG_SNT_Q72]
1. A-1,B-II,C-N, D-IV[Option ID = 1113]
2. A-IV,B-I,C- 11, D-1[Option ID=1114]
3. A-NI,B-1V, C-1l, D-1[Option ID = 1115]
4. A-1,B-1,C-1ll, D- IV [Option ID = 1116]

Carrect Answer :-
 A-LLB-IIl,C-Il, D- 1Y [Option ID = 1113]

73) arg dvor DI HFEGLT:

Tt - | rferast - |

A. SEHGIRI |, & %=1 yIon Scapidon
B. Riceafroaiiiret gffiiela I, gitrenifzaidm

C. amwdiscaengen Il fror:

D. Weranlssagen V. Rk

oy Zgfirt et g -

[Question ID = 280][Question Description = $2_qSNz_PG_SNT_Q73]
1, A-=1,B-11,C-1IN, D-IV[Option ID = 1117]
2. A-1l,B-1,C-Il, D- IV [Option ID = 1118]
3. A-1,B-1,C-1V,D -l [Option ID = 1119]
4. A-IV,B-1Il, C-1,D -1l [Option ID = 1120]

Carrect Answer :-
o A-I,B-Il,C-Ill,D-I¥ [Option 1D =1117]

74) aensfEoay ool T8 BT AFToLL

aderast - | rrderest -

A. oo RaRmee R AEsUIGPHR] HYEI: |, HAizacyici
B. wewriae: 1. angercele
C. cdaIsdouzivas: 111, digoolera
D. demar=igica: IV. dlercgiois
Fferd frsed Rl -

[Question ID = 281][Question Description = $2_qSNz_PG_SNT_Q74]
1, A=I,B-1lI, C-1,D- IV [Option ID = 1121]
2. A-1,B-1l,C-Nl,D- IV [Option ID = 1122]
3. A-NL,B-1V,C-1,D -1l [Option ID = 1123]
4, A-IV,B-1,C-Il,D- Il [Option ID = 1124]

Carrect Answer :-
o A-I,B-1I,C-1,D-I¥ [Option 1D =1121]

75) g DA HE BT WLl

erfeTent - | crferent -
A. faetares arze |, Fnidraedvreg
B. @Rl 3w AT IR 1. sifoergzrony
C. sfirmelar:: 11, sreron
D. s IV. arfseen

[Question ID = 282][Question Description = $2_qSNz_PG_SNT_Q75]
1. A-1,B-1l,C-ll,D- ¥ [Option ID = 1125]

2. A-1l,B-1,C-IV,D-Ill [Option ID = 1126]

3. A-1,B-1ll, C-I¥,D -l [Option ID = 1127]

4. A-IV,B-1l,C-1,D- Il [Option ID = 1128]

Correct Answer ;-

& A-1,B-1Il,C-Ill,D- IV [Option ID = 1125]

76) SocHl APRW A&z AR o R -
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A, dfie, sRIfl, srgegy, gecit, sftoray
B. wmrrfl, sftvrm, aigpecy, geddl, dfie
C. gadll, argegy, aftorm, dfis, sRKgt
D. smreft, geeht, dfen, sftur, sigpeeq

[Question ID = 283][Question Description = $2_qSNz_PG_SNT_Q76]
1. A

[Option ID = 1129]
2. D

[Option ID = 1130]
diilg

[Option ID = 1131]
4. B

[Option ID = 1132]

Carrect Answer :-
* A

[Option ID = 1129]

77) 'culsaarna: SRR R GIeviet AR O Rigk -

A, U, iR, Ao, 3

B. arrp:, 53, oo, umas:

C. frood, 283, ARRD:, UKKD:

D. &=, fawi, SIRKED:, UKD

[Question ID = 284][Question Description = §2_qgSNz_PG_SNT_Q77]
1. A [Option ID = 1133]

2. B [Option ID = 1134]

3. C [Option ID = 1135]
4. D [Option ID = 1136]

Correct Answer -
e A [Option ID = 1133]

78) afoammicr araly sgrivT ograpdiu feresroia
A, Imenigucy, yabngued, wadl, owaisin
B. gabucues, Fadl, emafimn, asmicuss
C. i, yabimcued, aencuey, adl
D. Yardl, srennques, galugues, gwilinn
Ty faecd R -,
[Question ID = 285][Question Description = 5§2_gSNz_PG_SNT_Q78]
1. A [Option ID = 1137]
2. C [Option ID = 1138]
3. B [Option ID = 1139]
4. D [Option ID = 1140
Correct Answer :-
e A [Option ID = 1137]

79) #gR g Aa Yol aEgeeas
MoTafergaInz Dol GAvIIST Jers Yors

SWtp oD aviciapargArRd Aeniiiaareil garme FAgiEr: o o ?
A, T

B, Rg=m:

C. stss:

D, =
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E.
agfiida Brrsed Rige -

[Question ID = 286][Question Description = 52_qS5Nz_PG_SNT_Q79]

1. A, B, E, D, C [Option ID = 1141]

2. C, A, B, D, E[Option ID = 1142]

3. D, B, C, E, A[Option ID = 1143]

4, D, B, E, A, C [Option ID = 1144]

1

Correct Answer :-
« A B, E, D, C[Option ID=1141]

80) arsrETauFgcasAR sosnclormael g wH Ko ?
A. Tsgos:

B. srorgos:

€. ages:

D. f2rTus:

e frood Rigpe -

[Question ID = 287][Question Description = 52_q5Nz_PG_SNT_Q80]
1. A, B, D, C [Option ID = 1145]

2. A, D, B, C [Option ID = 1146]

3. D, A, B, C [Option ID = 1147]

4, A, B, C, D [Option ID = 1148)]

Correct Answer :-
e A, B, D, C[Option ID = 1145]

81) Hwimabsirasias greoraraeNcas Ko -

A. IpoTaraRIe

B. walcafrrrg

C. TOREVRKRRH,

D. woarr

[Question ID = 288][Question Description = 52_qSNz_PG_SNT_Q81]
, B, D, C [Option ID = 1149]
, A, D, C [Option ID = 1150]

1. A
2. B, A

3. B, D, C, A[Option ID = 1151]

4, D, A, B, C [Option ID = 1152)

Correct Answer :-
e A, B, D, C[Option ID = 1149]

82) areiftrf¥aa - venr - g olajsernon waapaee Hiedzvi s -

A. sarrpeeell, scaarali@as:, aadna, auases:

B. srawrmalinke:, MOH, RIRKDoSl, TBATIE:

C. TOH, AFERTTaRET:, TBATO)G:, FIRKDoGCl

D. wbagolE:, MROUIUI, RIRKDBoGall, AdTdicdD:

[Question ID = 289][Question Description = 52_qS5Nz_PG_SNT_Q82]
1. B [Option ID = 1153]

2. C [Option ID = 1154]

3. A [Option ID = 1155]
4, D [Option ID = 1156]

Correct Answer :-
e B [Option ID = 1153]

83) aenfalRamasiearRivi oo BrorameRIR R -
A. Ik, I, IneeaEity:, Srrdtek:
B. iet:, sneweRite, wowdiel, swrhiek
C. smoreaiify:, Imemeler:, ek, sradiek
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D. swrefiel, smersclily:, swddiel, womas:

agfiida Brrsed Rige -

[Question ID = 290][Question Description = 52_qS5Nz_PG_SNT_Q83]
1. A [Option ID = 1157]
2. C [Option ID = 1158]
3. B [Option ID = 1159]
4. D [Option ID = 1160]
Correct Answer :-

& A [Option ID = 1157]

84) ==gienerirE ArgsaAandicia ag@ior GrEr
A. Rrenaoeeaatin
B. uRmeng=raraantis:
C. Rraafoeraamtes:
D. amoiesioler At
[Question ID = 291][Question Description = 52_qSNz_PG_SNT_Q384]
A, D, C, B [Option ID = 1161]
. C, A, B [Option ID = 1162]

D, C
C, A, D, B [Option ID = 1163]
B

i [
2.
3
4, B, A, D, C [Option ID = 1164]
Correct Answer :-
e A D, C,E [Option D =1161]

85) RrrarfaRaar: sergwrenRqer: agRadiaiod wraasdor Rrseany !

A. aoicgacler:, sows:, sagfer, araen:

B. amier, sneiocatler:, s, wme:

C. spagfor, s, auenR, clheation

D. sieE:, aeen, ehcacion, b

[Question ID = 292][Question Description = 52_qSNz_PG_SNT_Q85]
1. C [Option ID = 1165]

2. D [Option ID = 1166]

3. B [Option ID = 1167]
4, A [Option ID = 1168]

Correct Answer :-
e C [Option ID = 1165]

B6) et waagd addd, (A) i sfdrsaas (R) sta o asong
(A) afdreserory : woalt A adsD soedsaiia gaErrseaRI gIgr TRk T FART A0 O
(R) orve : gz adsrdar: 56 #d Filadioa
3R krood Riga
[Question ID = 293][Question Description = 52_qS5Nz_PG_SNT_Q86]
Aferperem, (A) 31 3fRme uweg weom (R) sifRem [Option D = 1169]
aErreeA, (A) amRe e a e (R) s [Option 10 = 1170]

aférrese (A) trem o1 el (R) 38wl siEr [Option ID = 1171)
afdrrese (A) tren o el (R) s8ml @itffrey [Option 1D = 1172]

N N PUR X

Correct Answer :-
e ifirrems (A) sk sRre gesg orow (R) sifteeg [Option D = 1169]

B7) arenftrfiaa werase ardd, (A) sfer sfirseerm (R) s o wvony |
siffrserera (A) : ers=igoan 52 |

TRy (R)  : Brooraeget: AmeRls 3w Ted |

TRl DRy RroRiRaAY Ry 7 Rig -

[Question ID = 294][Question Description = 52_qS5Nz_PG_SNT_Q87]
1. 38m1 (A) 2= (R) ==, (A) sz (R) A3 oo |

[Option ID = 1173]
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| 2. T (A) wd (R) Irem, usey (R) @ wm0i afiesecrs |

[Option ID = 1174]
3. fErpeeE (A) T a3 (R) T o1 e |

[Option ID = 1175]
4, atdecae (A) men sroe] (R) Iwes e |

[Option ID = 1176]

Correct Answer :-

* 33w (A) v (R) =, (A) sere (R) semd wrom |
[Option ID = 1173]

88) seiferl¥ad oorgd acde, o v Afirpee (A) aen sz i (R) i -

atfirpee (A) : SIIAECIICRIHIPIGIAR SRIAPIZSG: of ArD: |
@z (R) : fnweisedra iz gijzlq Yo, adq srme sfa Qs |

sadwenEeraitrgen feroniyoag s R |
[Question ID = 295][Question Description = S2_qSNz_PG_SNT_Q88]
1. (A) - =F1 s (R) - sy sféwm |

[Option ID = 1177]
2. (A) - fr 3R (R) - <t e |

[Option ID = 1178]
3. (A) - s argiere (R) - si i |

[Option ID = 1179]
4. (A) - <t 3B (R) - st SRR |

[Option ID = 1180]

Correct Answer :-
® (A) - sfy agReey (R) - sk 3 |
[Option ID = 1177]

89) areiiferfiad Semig add, o wod Afireeed] (A) aen araz wrevwE (R) sk -
Afirseed (A) @ FaraFUIEAvsSYEElee] golldeRIBEICEERRA SRl ¥d - FTaHUEvsqEivl HngncgisRacdstnizal siasgmm! smafe
orvid (R) : a5 - arerl - dAlRmed - der - el analt aiffrrar gelsorang

SR ordifeay aakrmg 3 Riga -
[Question ID = 296][Question Description = 5§2_gSNz_PG_SNT_Q89]
1. afimsesm (A) iy, T (R) agitem |
[Option ID = 1181]
2. T (A) v (R) s men (A) seoe (R) shY gieoeps o |
[Option ID = 1182]
3. offmseemn (A) SREw] anRe, Foog oropr (R) sk sRemBa |
[Option ID = 1183)
4, ciférree (A) o orve (R) sroprl aefidior, Riveg wievey (R) 3Rkt enfd sfdrremsr (A) sras |

[Option ID = 1184]

o afiroeen (A) SR, ©r (R) amRem |
[Option ID = 1181]

90) aeifeilRan wemig:d ara, @ T AfSepeocte (A) e s wrvE (R) sk -

sfirment (A) @ e FcHgaraTagwnIe Ribnw emEa |

oo (R) oo 7 aff aoR: avd ranrald ornowmardasds aemd Faoma sR1 gl gieds ga S ggwmg, RelenRad asmagaussil
3ferd Roed Rigp

[Question ID = 297][Question Description = 52_q5Nz_PG_SNT_Q90]

1. sifirper (A) men T wRoe (R) s s |

[Option ID = 1185]
2. afieses# (A) Ifmeg oo (R) s agee |

[Option ID = 1186]
3. sfErpeeE (A) R mer a TRoE (R) S9RE SR |

[Option ID = 1187]
4, atdecae™ (A) men o Seow (R) 3k |

[Option ID = 1188]
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Correct Answer :-
o IfFpeeE (A) Te0 O R (R) SrE amkEee |
[Option ID = 1185]

Topic: - Sanskrit_SHAAN_NOV21B

1) senfeiRare] *Skoceio) uldrar sEieIRadrel u=rgrsTonR R -
st gt gifen oficgisl snferaniomrT

wctfor] FdUG SAATRITRT R

il culbsimms Tt uswEa a

3561 ABFEIR=T Wl FAFucaRgi

feiferel sl ©R oNeeIHIcHA:

DI ML AHIATHIG] & T
AR AraaciRisagEgi feefen:

T Resem: [ent gen aeRn AlivamiEr:
e Fle B Gl Ggd L g [ P | e 1 e

BRI IETHITACCT GEANDIHRIYGT:

ARTAS 3WTEH e wfftd o
SaleeraBYIeTgetc! ofIHrsaa

sadrrdoHigar selsBody an Sdtawan siRaRamBa

[Question ID = 298][Question Description = 52_q5Nz_PG_SNT_Q9%91]
1. 7@t [Option ID = 1189]

2. awr [Option 1D = 1190]

3. s@m [Option ID = 1191]

4, zks: [Option ID = 1192]

Correct Answer :-

& 3= [Option D = 1189]

2) aaehferfiaens] orpaogHic] ufdcar apfferfiaarei wergesonagm: ferarda -
oIt gran gfer: offarmglal onferanforen

wafod FFac AR HIE

i cuUlsHmery @i urswnEE o

aT<iiol it aref sFacagieg

fejfaet oI 3A< TR SN9GIATCHoT:

D I SHRRTEARR - =19
AR Avaacrsagzgiia el

Txan: roeum: fiera gan AR FfcasiEm:
DCAFCIAUICY U SIS g izor:

HIERT G GRINIARIYET

AT S gfr aEdftsd o ae

Sl SEIEYISYsIol ik
geredlafdar a ondly aua swad
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b aceigs HeNsiywmay e aeafip e swals ?
[Question ID = 299][Question Description = §2_gSNz_PG_SNT_Q92]

1. =gl [Option ID = 1193]
2. Sfowsiume [Option 1D = 1194]
3. hwumieme [Option ID = 1195]
4. wemisem [Option ID = 1196]
Correct Answer ;-

e ooyimeE, [Option ID = 1193]

3) senfRiBaane; sotarasonier ufdvar seftiBaomen osagesenas e -
ast: grar gifer: oitawgrar arderanforan

wafon Fvac SdialEnaTT Ha

il sulsimms Wit uswEa a

315161 ABEIR=T el FFucaRging

ferferel sl o oNeeIHIcHo:

DI ML AT HIG] & T
3RY: AraaciRIsEifa fefer:

T Riomen: fFerT 2on AmERT: ARRsRET:
e PG 1o G L 1 L d A2 L3 | EAU R 2 G LI T

BRI IHEHFAT GERDIHIYGT:

ARTIe SR gfer aifted a ae

Saf GeraHYIeTgetcl ofIHrsaa
gorrialén a emdl? au soad

FfaseHicaraansizwoay RS o aal sk ?

[Question ID = 300][Question Description = 52_gSNz_PG_SNT_Q93]
1. == [Option ID = 1197)

2. gprert [Option 1D = 1198)

3. aggernEmrE [Option 1D = 1199]

4) arenfiRaare] *wemesls] uldar sEfiRaaren wagrssmengy e -
oot gial gffer offawqlal oifereniorm

wafed Feag SdiAfETTT 9

il gulshimery @it uswEa a

3stiol anfirras arel JFucargiieg

fepferel oreme @ik SN9GIAHoT:

DR DILEAN AHFITALSA JE Tl

AR Aceaacrsazgiia faelem:
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Fan: Roen: RFemr gen s wfcasioqr:

AL R aal AT

T A HITHIRIALNSIFDAY oD 5 g ?

[Question ID = 301][Question Description = $2_qSNz_PG_SNT_Q94]
1. g [Option ID = 1201]

2. arwaR [Option ID = 1202]

3. @i [Option ID = 1203]

4. hex: [Option ID = 1204]

Carrect Answer :-
& gig: [Option ID = 1201]

5) ssiifcriRanie] *sipaseis] Uldrar JeicriRadaret usraieiRR firaa -
dst: g1 gfer: oficsigial sirferenior

wcafon HeuG SRR AR

il gulshimery @it uswEa a

3stiol anfirras arel JFucargiieg

fepferel oreme @ik SN9GIAHoT:

O LAYl CINITAISH R er]
AR AraaciRisagEgiia fefan

3an: Roteem: f3emn g2 aneRn: AlvasiEn
e Fle B Gl gd (l  E pa | B 1 e

BRI G S IagibIRIyST

I snTE gier Wit a O

Il aseHigARaAtisiReay o AR on3+d ?[Question ID = 302][Question Description = 52_qSNz_PG_SNT_Q95]
1. gz [Option 1D = 1205]

2. =nfEmmr: [Option 1D = 1206]

3. =& [Option ID = 1207]

4, gw=E [Option 1D = 1208]

Correct Answer :-
o = [Option 1D = 1205]

Topic:- Sanskrit_SHAAN_NOVZ1C

1) amfeiian sgeade ufsear, srenfefiad wsaygsse] saw -



www.prepp.in D re p p

Your Personal Exams Guide

"orecreira ufrae sugAlusisrmail gamtif seiaeet Brgia: aeiizezfler o afecsena gl Aorfamr Mema aen At gdys
srrafardorgz:a? Bifdeerfsr sgrapfor swifereonyyy - gRrpeda et Afr 2103 a5k gricelon” st sedier vaq yrvra gerat gdymiei
SIEIIon yariBiEn: AR aoqaet: aitn st Rorealis) sy ygit wfor oy feeg st ang suse gdeppmoi siewqon 2R, swafes), s
ygt, ooy, gl A Femey Frafirsor $aa a wnfer ugs 5 wen anfer ﬁﬁa&rqrﬁraﬂ%{a{mﬁﬁmmﬁqﬁnnﬁamm
wrofAfer efcad  wd T weds saireonygimicdta sigreuivn spsnvitcae)srg dgfianda gramw:  31dE Rarid wcaft sgegpen Gfed spreaggmt
SPUTell YU il 3] agl: doc) eIl gl uftrstel oFl gleey geidl oid yfitg: Aqeaerls alufomle sedgellsaraenan
gulsearel: Aaien" srdanracergaiailaa gady o wefi Bien spereRvEIaen gEriol Ao srivrenfer shgaiftr sccifdorfer srgranfor

uferian

' o1 her eregT el wrsel: e ?

[Question ID = 303][Question Description = 52_qSNz_PG_5NT_Q96]
1. @ey [Option |D = 1209]
2. gar: [Option ID = 1210]

3. =iz [Option 1D = 1211]
4. amra [Option D = 1212}

Correct Answer :
o @z [Option (D = 1209]

2) aepfiifRad s ultear, aenfel¥ad usaygrene] Faem -

"orsgriva aly? ForpaAlvziErRmait gamthi dweroe Brgia: Riapfla a aficeansr el dwratirrd fern asn af gdas
srAfoIGergz:aE forfeeerfor arataivn swilfereens] - Yfipnda spenereniol afi He2 a<ar yreelone’ i1 saRel v Irpe gerral gdagabion
sigropon sracaedfiar: wenfd monaek: wifer sargHvr Reusalys) srog sl wifer oreig Reg sk s vod gedympra sigrgquont R, ssala), sy,
oy, oy, IGel O ey fraferster séa a wfer ugs fg: wer wfor Rl asmuiin afer smafs Ay 574 giteens siargpen dsion
ol Afer efcad  wd O wreds saireonygiicdta sigrenivn ssnvitcae)seg dgfidanda gramw: i Raeia woaft sigegpen Gfed sprepgmt
SITHI THLHAMIUENT 3T 3] acEn: HAce] oelwalu sielvn Bt oF1 omed gaiel ol glRig: sAowRl aubmle sHedasarmensn
vElsearer: Holldol:" sRIGMareIUHRGT wada 9 el forem sjeelsRueIuell YmInl #Hoea ortlzrenfor sfogznéifor amserfeforfer argranfon

al¥=rétenior

gavilee? sitaizreten o1 Brgodl arg avdd ?[Question ID = 304][Question Description = 52_qSNz_PG_SNT_Q97]

1. grasngaAmgAnt [Option (D = 1213]
2. yrazsni [Option 1D = 1214]

3. SumpiusigEt [Option 1D = 1215]

4. dftrgmefudt [Optmn D= 1215]

Correct Answer :

o vrgmeEAEyAnT [Option (D = 1213]

3) sefet¥ra sorees ufdear, srenfel¥ assgestrer 3aFd -

"oregieira afyed? soapiaHseai gamafide aimoe Bigia: mivgAder a afsesepy oxsrdva doraferd Reda aen afty gdagd
slreforgorgz:3rE forfdecifor srerquin salffieensyy - YyRiprda spenvaeenter ARt Fig2 adk yrieelary’ 31 sl vae grpea germl ydarbren
sigrepont sacaediarer: wenfd monaek: wifer sargHvr Reusalyd) srog sl wifer aifig Ry sfr a1 yod gelyepran sigigquont B, seala), sy,
o, oory, 831 Ok Femoiy Rruftrsrm 3a g wifer ugew fg: uror afor R sismpn anfer smpafedl arery 37949 gyifenst srgrgpvn dlsion
DfAfa g wd o Gede Skignegitbledd oIgkIvl sevilcar)gsg dqfadenea yogm: e frrid Fcait sigrgen afaed) speragnt
IYoTall WwempaasrT e 31 agen wed) seteaftr st Reltrsmer et gsed gendl A gqitg:  wopcaerdld alafrale sedgasarcenan
THISYArel: HFolldel: SEIEMTgAUIERI Bacd O Aol BRI ScerdbRvigIuRTel Yol Aqed eritzzentor shocenélon arserfaonfer orarapion
afyordtentsr

3133101 3olTEe sigian iy Femoly Rufersor st 7[Question ID = 305][Question Description = $2_qSNz_PG_SNT_Q98]
1. 4 [Optien ID = 1217]

2. 6 [Option ID = 1218]

3. 8 [Option ID = 1219]

4, 12 [Optien ID = 1220]

Eorrect ﬁmswer
o 4 [Dption ID = 1217]

4) aseferdad sopese afdean, senferfiad aseaqgestie] s -

"oregieiza uf¥ed sumauisEis gammbif Maimeen Brgia: adieeRlfe a afocetr= eecrels dAomafdeni fara aqr afa gded

sifordorgz: 3 Bifdecfer st saiffesns - YRizAa spenvaentar Al 322 adian yrigelany’ s =aser v rpea gepmt ydanmen
sigiqron sacaslionrT: awnf2 aogavh: wfer orerpivn Reasalg) sy ot anfor a1ty gy sfar oy Fued gdageemon sigwpun RRfa, sreafed), smag,
yt, oy, ey ek rerorg Raffrsmr $éa a aer ugwr i3 uony wifer B srgrgnfor mfer soafyd arsercy sedd gftrrens sigrren iisran
BRI v Ud 9 dMede sl Ithleidd dgkivI sramviicapgrg dAqiiditned yogeh: 318 Rearid aeiil g afasd speragmt
IYoTal WweaaErT e 31 agen wed) seteaftr mgon Reltrsmr st gsed gendl A gqitg:  wopcaerdl? alafrale sedgasarrensn

THIS AT FEA: | STAaHracagAvIuaRR gaed O AGR BItR smerpRUIEIuRIeT YrpIvl due erlzrentsr sfogrnéitor smerfdorfer arargrfon

afxeptetar
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FUa R aigrqucy wisficmgri?[Question ID = 306][Question Description = 52_qSNz_PG_SNT_Q99]
1. sfdeee [Option 1D = 1221]

2. @@ [Option

1D = 1222]

3. g [Option 1D = 1223]
4, TERT: [Dptmn D= 1224]

Cnrrect A.nswer -
sﬁ‘:qma;[ﬂptmn ID = 1111]

5) aepferiiad sreleede ufsear, arenfertiad usergeetie] Iaza -

"grecieizal uftee IumAaHaai gamiiila faiaore Brgia: miizeRiflel o Afocsersl olecrels Aorafadid faeRia  den afa gdied
arrafordorgxwd fifdeerfar mgrauivr senfereons - yRigeda spemosmier afer w3 ASkar grrcelone’ sfer surier vaed yrvr geraaf gdygmoiorn
slgromo sracadlforsrr: aenfg sogaet: afer et Roaealiel arcg it mfor srdng 2y sty any vued g sgrqon A, seafia, g,
ygt, ooy, gl AcAd Femoly Frafirs $aa o wnfer uge 3 weng anfer Rfer srgrepfor anfor areafsl amcy Tl gitrrensl sIgrquon Alslel
HORART elin od 9 @ede SAleeIFirbiodd aa i samiicnegeg dqkRiened gram:  3ds Raria acaft sigeen Sl sperapgmt
30Tl BLHUUERT 31 3] 9ol o) olRreditl olgte]Iull feiars ol ofeT 9fegy geirdl oild yfing: Howasrd aiufsrale Stdaycsaraezl
galseares: Asien" srdanracegaiailad gada o wef Bien spereRvEaen gEriol Aoea srfvrenfer shgadiftr sccifdorfer srgranfor

ulie=gdianisr

steacergarer e sasiter ?[Question ID = 307][Question Description = 52_qSNz_PG_SNT_Q100]
1. smraertz [Option 10 = 1225]
2. iz [Option ID = 1226]
3. =gz [Option 1D = 1227]
4. Wﬁu‘a{[ﬂptmn ID = 1118]

Cu rrect Answer -

® FopeEsrizA [Option |D = 1225]

Topic:- GP_24NOV_SH2_A

1) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees

[Contractual Employees

Departments_rota[ I.'~|uml:na»rJI::lal L Total Number I?:’m_
F F
IT 250 1 (1 |240 2 |1
Accounts 123 2 |1 130 3 [2
HR 90 3 |2 [30 2 |1
Marketing 350 5 [2 [343 5 |2
Production [304 5 3 [351 5l

Tt BT M6l &Y aiiz 33d oftt Ru s gl & 3z & ;

i €1 1% enferemt 3 fopeht Fioroor o fafieor fwmell 3f agor Safenf¥=il & Tz aan gmw iz afzar sequra R sk 2

Brafie wiard sifer snenfy watad
femmeT . sGNNI : aEAIGY

t@rmw mﬁﬂﬂ@m e
arE & 250 | 1 | 1 240 | 2| 1
e 123 | 2 | 1 130 | 3] 2
onor diaiee | 90 3| 2 30 2| 1
RravTe 350 [ 5| 2| 343 |5 2
Tt 304 | 5| 3] 351 |[5] 4

Find out the average number of regular female employees in the organization.

Forod # Prtim afton ot &bt s dx= sma @8

[Question ID = 1211][Question Description = $2_q5Nz_PG_GP16_Q01]
1. 83.20/83.20 [Option 1D = 4841]
2. 81.25/81.25 [Option ID = 4842]
3. 78.50/78.50 [Option ID = 4843]
| 4. 79.40/79.40 [Option ID = 4844]
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Correct Answer ;-
e 33.20/83.20 [Option ID = 4841]

2) Study the given table and answer the questions that follow

prepp

Your Personal Exams Guide

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

lkegu[ar Employees

IContractual Employees

Departments_mta[ NumbeJlf:tm Total Number Ratio

F |.7n F
IT 250 1 |1 [240 2 1
Accounts  |123 2 |1 1130 3 |2
HR 90 3 |2 [30 2 1
Marketing [350 5 |2 343 5 [2
Production (304 5 [3 [351 5 14

IeRDT I 3ERIe &1 iz 32m ofiwl 60 a0 gl & e & ¢
ofix 1 a1 uferot 3 fopall Fivom @ Riffica ol 3 oo wamixl B Fiwen q=n ywa sz aflgor smura e srm 2

ferafinT catarst sifereT amenfya aaterst
fermeT ] S\ . Sl

q&rmwm o Hwar -
s & 250 | 1 | 1 240 | 2| 1
e 123 | 2 | 1 130 | 3| 2
Al sienerer| 90 3| 2 30 21
FRroerar 350 | 5| 2| 343 |5 2
oot 304 | 5| 3 351 5| 4

Find out the difference between regular male employees and contractual male employees in the organization.

Fieroot H forafir gra avskaf=il s Hfer sneniva gy wHafyal & g o siaz s as
[Question ID = 1212][Question Description = $2_qSNz_PG_GP16_Q02]

1. 2/2 [Option ID = 4845]
2. 3/3 [Option 1D = 4846)
3, 4/4 [Option 1D = 4847)
4, 5/5 [Option ID = 4848)

Correct Answer ;-
a 2/7 [Option ID = 4845]

3) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees

[Contractual Employees

DepartmentsTota[ Numl:.u=.'~|J|::“;:El ot Total Number |;itlli
F F
IT 250 1 (1 |240 2 |1
Accounts 123 2 |1 1130 3 2
HR 90 3 |2 [30 z |1
Marketing |350 5 |2 [343 5 |2
Production [304 l5 |3 [351 5 |4

mirnT @ IR o i s R Resmwgeai D aae & &
a1k & =18 anforot 3 Rsedt Fisow & Rifdiea Roneil 3 wa el B siw=n aur ysa 3iie #ion seura B seo

RrafeT wefarf ziftreT snenfye wofarst
sy . S . 3re1aTed

= gy migen = g g
g €1 250 1 1 240 2 1
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crEn 123 2| 1 130 3| 2
ATl FHATEIET 90 3| 2 30 21
ferawret 350 3| 2 343 5| 2
FeuiGel 304 5| 3 351 5| 4

What is the respective ratio of the total number of female employees in the marketing department to the total number of
female employees in the production department?

Kravre famer 4 sifgen ol &1 oo dwn aen sracd et 3 #fgon izl & @a ziz=n & da oar agura & ?

[Question ID = 1213][Question Description = $2_q5Nz_PG_GP16_Q03]
1. 12/13/12/13 [Option ID = 4849]

2. 111371113 [Option 1D = 4850]

3. 1211771217 [Option 1D = 4851]

4. 11/15/11/15 [Option 1D = 4852]

Correct Answer :-

® 12/13/12/13 [Option ID = 4849]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [Contractual Employees
Departments_l_ rJRatim Ratio
otal Numbe " Total Number |M_’_
F F
IT 250 1 |1 [240 2 N
Accounts 123 2 |1 130 3 |2
HR 90 3 12 |30 2
Marketing |350 5 |2 [343 B |2
Production 304 5 3 [351 5 1

Tt DI MRIe] o aiiz 33d ofta Ru s gl & 3z & ;
ofia €1 =1 eferam & fapeft Fioroor o faficor fawmell 3f agor Safenf¥=i & Tz aan gmw sz afar sequra R srm 2

Brafier i ifrer snenfya watard
femisT . TG 3 TG

el HIWAL s mﬁ‘mr‘)@ I S
aird A 250 | 1 | 1 240 | 2| 1
e 123 | 2 | 1 130 | 3] 2
onor st | 90 3| 2 30 2| 1
Rravrer 350 [ 5| 2| 343 |5 2
Tt 304 |53 351 |[5] 4

Find out the difference between the number of contractual male employees and the number of contractual female
employees in the organization.

FHoraol i Fferer amenfyd gsu walani¥al & FHiean aen Afder ameniya wizen wafenfal bt sz o dir aias 9a ®F

[Question ID = 1214][Question Description = $2_qSNz_PG_GP16_Q04]
1. 298/298 [Option |D = 4853]
2. 295/295 [Option ID = 4854]
3. 302/302 [Option ID = 4855]
4. 307/307 [Option ID = 4856]

Correct Answer :-
& 298/298 [Option ID = 4853]

5) Study the given table and answer the gquestions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

[Contractual Employees
Ratio
F

Regular Employees

Total Numbe ;«at?

Departments

Total Number
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IT 250 1 1 [240 2 |1
Accounts  |123 2 |1 1130 3 |2
HR 90 3 |2 30 2 1
Marketing [350 [5 (2 |343 5 |2
Production (304 5 [3 [351 5 4
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mitrnT @ R T i s R Resmwgeai D aae &€ »
i & s auferor & fosalt vistom o fafica finisil d oo i Bt Fizeen aen ysa iz #af2arn squra 2 swn 2

Rt watark siferer amenfy wakarst
et : G0 : SlefUd

wmwm 1 FHwan ———
s & 250 | 1 | 1 240 | 2| 1
T 123 | 2 | 1 130 | 3| 2
i sienerer| 90 3| 2 30 2|1
FRroerer 350 | 5| 2| 343 |5 2
T 304 | 5| 3 351 5| 4

Which department has the highest number of female employees?

frn Runer # afden waabal & aafites sn 37

[Question ID = 1215][Question Description = $2_qSNz_PG_GP16_Q05]
1. 1T fak & [Option D = 4857]

2. Production/sru=er [Option 1D = 4858]

3. Accounts/dmmn [Option 1D = 4859]

4. Marketing /e [Option D = 4860]

Carrect Answer :-
& |T/anZ & [Option D = 4857]

Topic:- GP_24NQV_SH2_B

1) Which of the following is the highest level of teaching?

forraferfiaa i 31 witor w1 Scaawn Foaz o P $ 7

[Question ID = 1216][Question Description = $2_qSNz_PG_GP16_Q06]
1. Memory/zFaf [Option ID = 4861]

2. Understandingf=ita [Option ID = 4862]

3. Reflective/Rrsf [Option ID = 4863]

4, Thinking/fermr [Option 1D = 4864]

Correct Answer :-
* Memory/zqfy [Option 1D = 4861]

2) Which of the following are the characteristics of an adolescent?
A. Increasing independence from adult control

B. Rapid physiological changes

C. Emotionally matured

D. Acts rationally

E. Increased focus on activities with peer groups

Choose the correct answer from the options given below:

Rpost @i owmiciRaa d A wle A Ridhaem & ?

A. Tl @t Priger 3 Tecdl Fadgm

B. tdiq smilicznicre ulfvacden

C. staraw wu A ufyuaa

D. ailRia effeepior 3 Rgam oo

E. s sl & e stz us aifPre eamer e
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s 2v are Repedl d 3 718 s @1 o= i @
[Question ID = 1217][Question Description = 52_qSNz_PG_GP16_Q07]

A and B only/dsm A & B [Option 1D = 4865]

A, Band C only/zmm A, B aiiz C [Option D = 4866]
A, B and D only/aam A, B 3fiz D [Option 1D = 4867
A, B and E only/gaa A, B afiz E [Option 1D = 4868)

O

Carrect Answer :-
# Aand B only/@em A 33 B [Option ID = 4865]

3) Which of the following are the most influential factors of learning?
A. Government policy

B. Motivation

C. Aptitude

D. Interest

E. Physical facilities

Choose the correct answer from the options given below:

forgmfeitian 3 21 et A AREH & TS PU! TEd 8 7

A, ot Hif

B. afsrgzom

C. affigrerr

D. afirsfr

E. sifficrr Ficrens

ol 18w =1u famcul # 31 A Iz @1 oI HIfEs 2

[Question ID = 1218][Question Description = $2_q5Nz_PG_GP16_Q08]

1. A, B and C only/@@= A, B 4z C [Option [D = 4869]
2. B, Cand D only/@am B, C 4w D [Option 1D = 4870]
3. C, Dand Eonly/@am C, D3R E [Option ID = 4871]
4, A, B and E only/<mm A, B siiz E [Option 1D = 4872]

Correct Answer :-

o A, BandC only/<mm A, B sz C [Option D = 486Y9]

4) Match List | with List Il

IList | List ||

Institutions Offering Courses Through SWAYAM [Level of Education

A, NCERT |. Post school education

B. IGNOU Il. Undergraduate education
C. CEC Ill. Postgraduate education
D. UGC IV. School Education

Choose the correct answer from the options given below;

et -1 ot et <11 3 gt i

et -1 et -1
(Fe=t @ amee A UgEA Ao ol amdl st ) (g @1 ae)

A. gor 2Rt § o & . zpyer - sorea R
B. soa1 |Il.aia:m1ﬁa5i§1&n
C. =it § ot 1. somrre g
D. st ## |I"J. Fayel 1o1gm

sk o oo Repedl & 31 w16l = gfene :
[Question ID = 1219][Question Description = 52_qSNz_PG_GP16_Q09]

A-1¥,B-1,C-1ll,D -l [Option ID = 4873]
A-1¥,B-Nl, C-1,D -l [Option ID = 4874]
A-1¥,B-1,C-Il,D- Il [Option ID = 4875]
A-1¥,B- 11, C-IIl, D- I [Option ID = 4876]

bt B —

Carrect Answer :-
¢ A-IV,B-1,C-IIl,D-Il[Option ID = 4873]
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5) In a learner-centric approach, a teacher should:

sifPPRrTdl - dica suFm # Brers @ -

[Question ID = 1220][Question Description = 52_qSNz_PG_GP16_Q10]

clarify concepts by citing examples/ saml g o dr smuRuEl @ 7ee Tz wigs [Option D = 4877]

facilitate student learning/or © 3ffPE © snem gomen aiize [Option ID = 4878]

explain concepts by using adequate support materials/ i FErrr JAe]} @7 SWPT T arrromall @ cresn wslt afde [Option 1D = 4879]
demonstrate inside the classroom/ e @ afee ygea wxd Bemen @fdw [Option 1D = 4880]

L kad R

Correct Answer ;-
o clarify concepts by citing examples/ssmnr g o srremumAl o 2o wen mize [Option (D = 4877]

6) Independent verification of a research effort is Known as

et ofler Qe 1 Fadg AFAIIel TR Hacldl & 7

[Question ID = 1221][Question Description = $2_qSNz_PG_GP16_Q11]
1. Enquiry/gesr [Option 1D = 4881]

2. Probe/zia [Option 1D = 4882]

3. Replication/gerzight [Option [D = 4383]

4. Investigation/smdwe [Option 1D = 4884]

Correct Answer :-
® FEnquiry/geer [Option 1D = 4881]

7) Which of the following are characteristics of quantitative research?
A. Questions are open-ended

B. Identified variables are measured

C. Questions are standardized

D. If the sample size is large, the findings can be easily generalised

E. It is difficult to fix the level of measurement

Choose the correct answer from the options given below:

forraiferfianT 3f 2t to1 2t A olter &Y frdraame & ?

A, Qa1 Io-3 8 B &

B. afirforerifya a3t @1 amust o @iran &

C. gral ercbiand 8il &

D. af2 gitrcef o1 arp1z &1 8, o foremrdl @1 anwell A AT fiean &1 Iear &
E. aMUst 3413 7RI 3ol ®idaT 2er 3

oflr e o1 Rrasedl # A 78 saz w1 a=e Hifre :

[Question ID = 1222][Question Description = $2_qSNz_PG_GP16_Q12]

A, B and C only/@ae A, B 3tz C [Option ID = 4885]
B, C and D only/dwe B, C sz D [Option ID = 4886]
€, D and E only/dae C, D 4 E [Option ID = 4887]
A, Cand E only/@@= A, C sfiz E [Option [D = 4888]

oW R

Correct Answer :-
e A, Band C only/@am A, B siiz C [Option D = 4885]

8) Given below are two statements
Statement I: Researchers in history are myth makers.
Statement |l: Various movements in social history- new history - have provided new narratives for history researchers.

In light of the above statements, choose the most appropriate answer from the options given below

ofldY &t weer Rusre ¥ ©

averet - | @ R oiterasal Brerw - B 818 ¥

aveget - || @ ammBnes sfrera - ome sfrara o Riffss sidiesil ot sRiera oltersalsii @ Rie are sirexner saaser g §
IS WAl O e #, i Re a1 Rovedl & A w1él saz o wa $ife ¢
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[Question ID = 1223][Question Description = $2_qSNz_PG_GP16_Q13]

oW =

Correct Answer :-

« Both Statement | and Statement |l are correct/aram | 41z || 3 8 & [Option 1D = 4889]

9) According to Wimmer and Dominick, the sequential steps in content analysis are:

A, Defining the population

B. Selection of appropriate sample

C. Identifying the unit of analysis and construction of categories

D. Code, analyse and draw inferences from the collected data

E. Formulation of the research question or hypothesis by the researcher

Choose the correct answer from the options given below

foe= sz Skiforr @ iR gy ardaur & PeoifiRaa el @t 318 o 3 35

A. wwfic @t ufysnie wwon

B. 3km giicet @1 = e

C. Rragur @1 sors 3ile ORI &t sizaen B usta e

D. selige D3l @l Weag i, eyl wen 30t s forpreen

E. olterpal gt onler ussl @ ubsooasiaii @1 o wion

ol f8u a1e Repoal 9 31 w18t 30w @l o=m Wifans :

[Question ID = 1224][Question Description = 52_qSNz_PG_GP16_Q14]

1. A, B, C, D, E [Option ID = 4893]
2. B, C, D, E, A[Option ID = 4894]
3, C, D, E, A, B [Option ID = 4895]
4. E,A B, C,D

[Option 1D = 4896]

Carrect Answer :-
s A B, C,D, E[Option |D = 4893]

Both Statement | and Statement [l are correct/=em | iz || St =2t & [Option 1D = 4889]

Both 5tatement | and Statement [l are incorrect/wram | iz || el s & [Qption (D = 4890]

Statement | is correct but Statement Il is incorrect/@emr | 2t &, Frog @ewt |l sierr & [Option ID = 4891]
Statement | is incorrect but Statement |l is correct/@mem | s/ 8, Prog @emt || 7@t & [Option ID = 4892 ]

prepp
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10) Match List | with List Il

List | IList 1

Ethical concepts ISource

A. Categorical imperatives |I. Aristotle

B. Utilitarianism . John Rawl

C. Golden mean |III. Immanuel Kant

D. Theory of justice

Iv. John Stuart mill

Choose the correct answer from the options given below:

2 -1 B 3t -1l A gAfra Hifw

oht -| et -1
(sifrer srremRumg) |(=veT)

A. forzlier amdar |I. AT,

B. swiRmmG 1. stior sfe=

C. ¥eaof mmea 1. shegre wic
D. v o frgia IV, stier sgare e

ofta v =17 fraseal & 7 =8 saz gforw :

[Question ID = 1225][Question Description = $2_qSNz_PG_GP16_Q15]

A-1,B-1l,C- Nl D- IV [Option ID = 4897]
A-11, B -1, C- IV, D-I[Option ID = 4898]
A, B-1v, C-1,D- Il [Option ID = 4899]
A-1V,B-1,C-Il,D- il [Option ID = 4900]

PR e e

Correct Answer :-
&« A-1,B-1l,C-Ill,D- IV [Option ID = 4897]

11) In the transactional type of communication, the elements are:
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Fieragitys Aguer 3, ava DA A S ?
[Question ID = 1226][Question Description = $2_q5Nz_PG_GP16_Q16]

Independent/Fadg, [Option 1D = 4901]
Inter-dependent/uzzaz Buiz [Option 1D = 4902]
Meutral/mezer [Option ID = 4%03]
Inactive/fFiftam [Option ID = 4904)]

bl D

Correct Answer ;-
¢ |ndependent/=rry [Option 1D = 4901]

12) Which of the following influence non-verbal communication?
A. Avoidance of signals

B. Invisible incongruence

C. Culture

D. Geographical location

E. Contextuality

Choose the correct answer from the options given below:

fomaiforiae af 2 @ arenfece FYOUT SY Yonfaa wwr 2 ?
A, Fiddr o ufien

B. azgu frsimta

C. sirpta

D. sitanferes amafierfi

E. aciikoar

il R 1w Rroseal 3 31 w8 30 w1 awer Hiftwe :

[Question ID = 1227][Question Description = $2_qSNz_PG_GP16_Q17]

A, B and C only/a@am A, B afiz C [Option ID = 4905]
B, C and D only/@ae B, € a0z D [Option 1D = 4906]
€, D and E only/@ae C, D 3 E [Option 1D = 4907]
A, D and E only/d5ae A, D sz E [Option D = 4908]

P

Correct Answer :-
o A, Band C only/@am A, B diz C [Option D = 4805]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A; Communication must include the transfer and understanding of messages and their meanings.
Reason R: Achieving perfect communication is a technical possibility,

In light of the above statements, choose the correct answer from the options given below

ofta €t werer Rw =1e B 1w Afdrseor (Assertion A) @ wa & 3w grer 3@ vt (Reason R) d wa 3 ©
sifdreseret (A) © Fguer 3 wSont iy serdd el wr siczor sz Qe g aftaftra sar aifde

arzor (R) : ufrgel wtpaor w1 g qua wyen v tavolldi Asncaan 3

I wuell a5 sralr #, i Ry Broveal # 3 wdt saz o auer Hifsie -

[Question ID = 1228][Question Description = $2_qSNz_PG_GP16_Q18]

Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) S=if 38t £ 5fiz (R), (A) & ad === & [Option 1D = 4909]

Both A and R are true but R is NOT the correct explanation of A/{A) 4tz (R) ¥ 38 & usagg (R}, (A) & 328 == wgi & [Option 1D = 4910]
A is true but R is false/{A) st @ womgg (R) =t =t & [Option ID = 4911]

A is false but R is true/{A} 7t ol & weorg (R) 2rdt & [Option ID = 4912]

oW

Correct Answer :-
# Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) St 21t & 3tz (R), (A) ot 2idt =m==n & [Option ID = 4909]

14) According to Robbins et al, the sequence of communication functions is :
A, Control
B. Motivation

C. Emotional expression
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D. Information

Choose the correct answer from the options given below

3ifdes wd e & AgHR YW deall o WA @ @ @ 7

A, Rriqer

B. afrzon

C. smaras sficafs

D. Sorsrdt

oitar faw a1 faaseal 3 3t Fdl Fnz @1 aaa B ©

[Question ID = 1229][Question Description = $2_qSNz_PG_GP16_Q19]

1. B, C, D, A [Option ID = 4913]
2. D, A, C, B [Option ID = 4914]
3. C, D, B, A [Option ID = 4915]
4. A, B, C, D [Option ID = 4916]

Correct Answer -
e B, C, D, A[Option ID = 4913]

15) Which of the following are the traits of a competent communicator?
A. Mindfulness

B. Receptive to new information

C. Thinking before acting

D. Should always go by the first impression

E. Be passive to issues around

Choose the correct answer from the options given below:

forsarfert¥rer 3 31 wior 3 wgre Hqwor o5 Traror 3 ?

A. wrdern

B. or¥ sworasdt @t srgeroiterr

C. oK Rpan wral A s 39w an | e

D. gem geer w1 Exret # 3T A Gl

E. sz - ara @ gel © gty iftaga wsan

i) f8u a1e Repoal 3 31 w18t 30z @l o=m ifans :

[Question ID = 1230][Question Description = 52_qSNz_PG_GP16_Q20]

A, B and C only/asam A, B iz C [Option (D = 4917]
B, C and D only/&=m B, C sfiz D [Option 1D = 4318]
C, D and E only/&aer C, D &fiw E [Option ID = 4919]
A, D and E only/dae A, D stz E [Option D = 4920]

oW o

Correct Answer :-
o A BandC onlyf@am A, B afiz C [Option D = 4917]

16) What comes next in this sequence?

1,2, 2,4, 8, 32,7

oftar v =19 sropyw A st dw=n wiar A Bl ?
1, 2, 2, 4, 8, 32,7
[Question ID = 1231][Question Description = $2_qSNz_PG_GP16_Q21]

1. 84/84 [Option ID = 4921]
2. 64/64 [Option ID = 4927]

3. 128/128 [Qption ID = 4923]
4. 256/256 [Option ID = 4924]

Carrect Answer :-
& §4/84 [Option 1D = 4921]
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17) If seven persons can build a house in 30 days, how long will it take three persons to build the same house, provided
that they all work at the same rate?

afe wm safts ezt awrer o 30 Ra # gon awa 3, fla saftpal o5t 53 worer o) gona # fras Ba o181, qord 5 & 3t warar o3 A ot
wHIE ?

[Question ID = 1232][Question Description = $2_qSNz_PG_GP16_Q22]
1. 100 days/100 &= [Option ID = 4925]
2. 70 days/70 &= [Option ID = 4926]
3. 30 days/30 &= [Option ID = 4927]
4. 210 days/210 &= [Option ID = 4928]

Correct Answer :-
o 100 days/100 2= [Option 1D = 4925]

18) If the difference between compound interest and simple interest on some principal amount at 20% for 3 years is Rs 64,
then the principal amount is -

afe; foft wererer av 20% &t o3 A 3 ad @ fore gayaly s siiv [emrer =i w1 siae 64 F9A 8, Y a5 Fereker S o

[Question ID = 1233][Question Description = $2_qSNz_PG_GP16_Q23]
1. Rs 495/F 495 [Option [0 = 4929]
2. Rs 550/% 550 [Option [D = 4930]
3. Rs 375/+ 375 [Option D = 4931]
4, Rs 500/% 500 [Option D = 4932]

Correct Answer :-
a Rs 495/% 435 [Option (D = 4929]

19) Given below are two statements

Statement I: The angle between the minute hand and the hour hand of a clock when the clock shows 3 hours 20 minutes is
25°

Statement |l: Between 4 and 5, the minute hand and hour hand of a clock will be coincident at 21E minutes past 4.
11

In light of the above statements, choose the correct answer from the options given below

oft & weot Rusig ¥ .
arerat - | 2 afe wSt 3 garesy 20 Breie wr waer soildl & at sadht w5 & IF il Brawe & g © $a 252 wr witr gorn 3

were - 1l & 4 3fiz 5 & A 4 gao: 213%@@&%@@%&1%&@%@1&&%
11

FRITE U] @O ACRD #, Jil 7 91 kioedl # 3 313t a1z @1 = i @
[Question ID = 1234][Question Description = $2_qSNz_PG_GP16_Q24]

1. Both Statement | and Statement Il are true/wem | iz |l S s & [Option (D = 4933]

2. Both Statement | and Statement |l are false/wem | i3 || Sl ame & [Option (D = 4934]

3. Statement | is true but Statement Il is false/=em | 3xa €, ‘oo e |lamwra & [Option [D = 4935]
4. Statement | is false but Statement Il is true/=eu= | o 303 &, feeg o |l g € [Option ID = 4936]

Correct Answer :-
# Both Statement | and Statement || are true/rem | 4z || @i =1 & [Option |0 = 4933]

20) Which of the following statements are correct?

A, If the cost price of an item is Rs.56 and the gain percentage is 20%, the selling price of the item is Rs.76.2,
B. If the cost price of an item is Rs.80 and the loss percentage is 15%, the selling price of the item is Rs.68.

C. If an item purchased in Rs.5 is sold for Rs.6, the profit is 25%

Choose the correct answer from the options given below

ferafeliaa wust w far Gt ¢

A. =iz Rt avg @1 am1 ara 56 $ud 2 3w 35wz 20% o 3 &, ot s o o e e 76.2 3a@ 3
B.aR Rffarg oo am B0 s 2 A e 15% afti Rt 8, disuasg o R ara 68 = 3
C. IR Rt avqg ot 5 ¥R 3 wicwe 6 TR 3 dar ot 8 4 33w 25% o1 S 2

TR A Dl /A wem a3/ E7?

[Question ID = 1235][Question Description = 52_qSNz_PG_GP16_Q25]
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C only/a@mm C [Option 1D = 4937]
B only/#=er B [Option ID = 4938]
B and C only /@ B stz C [Option 1D = 4939]
A and B only/@wc A dfm B [Opticn ID = 4940]

oW

Correct Answer :-
o C only/aer C [Option (D = 4937]

21) Match List | with List I

List | IList 1
A. Vyapti |I. An immediate valid cognition of reality due to some Kind of sense-object contact
B. Anumana |II. A source of knowledge on the basis of the likeness of things

C. Pratyaksha!lll. Knowledge of an object due to previous knowledge of some sign or mark

D. Upamana |IV. The universal relation between the middle and major term of inference
Choose the correct answer from the options given below:

IRt -1 @ et -1l 3 dRm b

et -l et -l

A [l fep=lt garz o sfocemel afoormt & T Aemef &1 armrd d2
) isirol

P [ll. <fisii &6t Sereuen 9 AR U2 36 T I

AT

C. gragr |lll, kol sigsa @ g @ gd siral @ amenz az fedl azg o1 St
D. soam= |IV.31@mlaiﬁaguaaﬁ7mu‘q’&iﬂam:ﬂﬁﬁmm
ofia Ru s1e faescal 3 31 7él 3 gfome ¢

[Question ID = 1236][Question Description = $2_qSNz_PG_GP16_Q26]
1. A-1,B-IV, C- 1, D -l [Option ID = 4941]

2. A-1l,B-1ll, C-1, D- IV [Option ID = 4942]

3. A-1I,B-1I,C-1, D- IV [Option ID = 4943]
4, A-IW,B-1ll, C-1, D -1l [Option ID = 4944]

Correct Answer ;-

o A-1,B-IV,C-Il,D-Il[Option ID = 4941]

22) Match List | with List [l

List | List Il

A. Sannidhil. Mutual fitness and compatibility of the constituent words in a sentence
B. Tatparyalll, Expectancy between the words different in a sentences

C. Yogyata |lll. Propinquity between the different words in a sentence

D. Akanks3llV. Meaning intended by the sentence

Choose the correct answer from the options given below:

2 -1 B it -1l A gAfera Hifw

et -| et -1

A. wfcoiftr || arra 3 siacw 9sl Dl uRulRs IRl Al JeRIan
B. areozt |II. ara & ores) @ di| yeamen

C. dtwar Il awe 3 Rifdioor erdl @ dia awie

D. arwisn ||V, arrr mr afega el

oY R =1e Riescul af 2 xdt 3w gl

[Question ID = 1237][Question Description = $2_q5Nz_PG_GP16_Q27]

A-1,B-1,C-1ll,D- IV [Option 1D = 4945]
A-1¥,B-N,C-1Il,D-I[Option ID = 4946)
A-Il,B-1,C-1V,D- Il [Option ID = 4947]
A-NI,B-1¥, C-1,D -l [Option ID = 4948)

oL B

Correct Answer :-
a A-I,B-I,C-IlIl, D-I¥ [Option ID = 4945]

23) Name the fallacy committed in the argument.
"All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets.”

Choose the correct answer from the options given below
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i R s A A Bla AT aAG I & ?

2 1 2 P (|1 P i g N | o s P

DI Yloroiel UreK] sieiaz ol &

salie oo Aol i seaz adl &

[Question ID = 1238][Question Description = $2_q5Nz_PG_GP16_Q28]

Undistributed Middle/smma &3 [Option ID = 494%]

Affirmative conclusion from Negative Premises/srommens aens arEl 3 weRrae Breed [Option 1D = 4950]
Exclusive fallacy/ smersie s g [Option 1D = 4951]

Existential fallacy/af¥rrausr rryf g [Option D = 4952]

b BRI —

Correct Answer :-
o Undistributed Middle/ammmr 2 [Option 1D = 4949]

24) Consider 'A’ proposition as ‘True' and 'False' respectively, in a square of the opposition of propositions, then which one
of the following is correct?

o’ araz @ Rroda oof 3 A’ aod araa o sk "\ iy srad we Beafdfda d A vl madt ac 3 ?

[Question ID = 1239][Question Description = $2_qSNz_PG_GP16_Q29]
1. 'O is True and T is False/'D' =&t Z 4tz 1 sy & [Option ID = 4953]

2. 'E'is Undetermined and 'Q" is False/'E' afsrifsr 2 3z 'O sww1 & [Option 1D = 4954)
3. 'D s Undetermined and ' is False/'0' aforaityr 2 siiz I swwr & [Option 1D = 4955]

4. 'I'is True and 'E' is False/|' 581 & 3fs 'E' siwm & [Option ID = 4956]

Correct Answer :-

# '0'is True and 'I' is False/'Q' 3at & 4z ' =i & [Option ID = 4953]

25) In which of the following forms of knowledge there cannot be any predication of the object in terms of the subject-
predicate relation?

Rrafeifiaa d A Row zmer ga & 38ed - RifRr Fiqern bt eite 3 a3 @1 ©1F Rt ol & scoen & 7
[Question ID = 1240][Question Description = $2_qSNz_PG_GP16_Q30]

Nirvikalpaka Pratyaksha/feftrrmr geaet [Option 1D = 4957)
Savikalpaka Pratyaksha/afiroeon geer [Option ID = 4958]
Samanylaksana/ammerem [Option ID = 4959]

Yogaja /=t [Option 1D = 4960]

bt B

Carrect Answer :-
& Nirvikalpaka Pratyaksha/fideoo® graer [Option 1D = 4957]

26) A spreadsheet is

Fseile & -

[Question ID = 1241][Question Description = 52_qSNz_PG_GP16_0Q31]
One-dimensional table or grid/uw - Falle afewet =@ B [Option 1D = 4941]
Two-dimensional table or grid/ T - felt mifws @ B [Option 1D = 4962]
Three-dimensional table or grid/fy - el mitem =0 B [Option ID = 4963]
Four-dimensional table or grid/amgz - Refta micror =0 B [Option 1D = 4964]

L kad RJ

Correct Answer ;-
* Qne-dimensional table or grid/wp - el coifrm o B [Option 1D = 4961]

27) In electronic banking, ATM stands for
FORIGI oD Alipal @ Fdel 3 T & 99 T Y1 olldl =0 & 7

[Question ID = 1242][Question Description = 52_qSNz_PG_GP16_0Q32]
1. Automated Transfer Money/dEN0Ps e At

[Option ID = 4965]
2. Automated Teller Machine / sidirs o= adlw

[Option ID = 4966]
3. Automatic Transfer Machine/did@ERw giaws Al

[Option ID = 4967]
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| 4. Automatic Transfer Mode/dfdEiRes gaps A

[Option ID = 4968]

Correct Answer :-
e Automated Transfer Money/dikFeEs ciaws a@=l

[Option ID = 4965]

28) Which of the following is a disadvantage of laptop computers in comparison to desktop computers?

BB TPIICIH Dl goaall # dueia wexicRl ol orrakiRaa | 31 wia it oo ool & 7

[Question ID = 1243][Question Description = 52_qSNz_PG_GP16_0Q33]
1. It has no trailing wires/zri @ e fmeet &df 7za & [Option D = 4969]
2. It has lower power consumption/s=Et et &5t = on srdt £ [Option ID = 4970]
3. It is lightweight and self-contained/sewm w=ier wa 25 & 4 @5 = widm £ [Option D = 4971]
4. |t is easier to break or steal/ diger w0 geen amewer @ 2 [Option D = 4972]

Correct Answer ;-
o [t has no trailing wires/zad wif rm Bt s 2508 [Option (D = 4969]

29) Which of the following statements are correct?

A. Laser printers use dry ink

B. Unlike dot matrix and inkjet printers, laser printers do not use ink when producing a document
C. Laser printers use the property of static electricity

D. Laser printers produce ozone gas and tiny toner particulates in the air

Choose the correct answer from the options given below

forgmieitian ool @ arenz W2 fkar Sifew |

A, oz el d v 2l o SwRiel ko s 8

B. Sic ailcaa 3z swsic Rcdl @& faaiia osz [gal d crards da1e o S 38! ©f JU=ieT |l o o &
C. dez Rigel & e fier faga & fRigwaan/sgor @1 wRiter g 2

D. oz ez ary & 3ii=la 313 Az Aoz & Yo B Irlool BHI &

FRITe 3 3 Dlol 71 / 3 e FwELE T

[Question ID = 1244][Question Description = $2_q5Nz_PG_GP16_Q34]

A, B and D only/@== A, B iz D [Option D = 4973]
A, Cand D only/osae A, C &z D [Option ID = 4974]

B, C and D anly/<mm B, C afiz D [Option ID = 4975]

A and C only/asmwT A itz C [Option ID = 4976)

e bt B —

Correct Answer :-
o A, Band Donly/<mm A, B iz D [Option D = 4973]

30) Given below are two statements
Statement I: DRAM consists of a number of transistors and capacitors
Statement |l: DRAM needs to be constantly refreshed

In light of the above statements, choose the correct answer from the options given below

i € wera 2w s E

werd - | 3 3 e © ow 3 sl ciforees afiz denfyg (Dulics) afiafem g 2
werd - 1 ;31 anez v va Ot asnaR £ grsea &1 anaesrsar 2rl

IUIE werell B Aclhd H, il Ry 710 famaal # A wdl 307 ol o Hifem ;
[Question ID = 1245][Question Description = $2_qSNz_PG_GP16_Q35]

Both Statement | and Statement || are true/arem | 3z |l = = £ [Option 1D = 4977]

Both Statement | and Statement |l are false/wmem | 3= || g5 sm=g £ [Option 1D = 4978]
Statement | is true but Statement Il is false/@emr | w1 & |, Foag @ || s & [Option ID = 4979]
Statement | is false but Statement Il is true/@ewm | sra 2 , Rosg wem || s £ [Option 1D = 4980]

R L

Correct Answer ;-
e Both Statement | and Statement |l are true/mem | diz | si=t e & [Option D = 4977]
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31) According to Niti Ayog's SDG Index (2019-20), which among the following states is the best performer in the attainment
of SDG-5 (Gender Equity)?

aiifer smeiler @5 oarslsht gawias (2019 - 20) @ e, oadsish - 5 (fiffros wenemn) g wea & Beaftfiaa 3 3 Rea asa o ggeler wdd)ss
27

[Question ID = 1246][Question Description = $2_qSNz_PG_GP16_Q36]
1. Kerala/dwe [Option 1D = 4981]

2. Himachal Pradesh/f2amee gaer [Option 1D = 4982]

3. Sikkim/fafrrer [Option 1D = 4983]

4, Goa/f=irn [Option ID = 4984]

Correct Answer :-
o Kerala/=Zer [Option 1D = 4981]

32) Protection from Ultraviolet Radiations as envisaged under the Montreal Protocol also contributes to following 5DGs

Jifoczrer Qidiasiar 3 &t 31 ul¥meuen & oI GrdsToll fafeszor 31 Hzgror forgoiferliae 3F 2t fopar war 21 St 3 off AwrcTor Deem 2 7

[Question ID = 1247][Question Description = $2_qSNz_PG_GP16_Q37]
1. SDGS 3, 11, 14, 15/ea & 5k 3, 11, 14, 15 [Option ID = 4985]

2. SDGs 10, 16, 17 /um €5l 10, 16, 17 [Option 1D = 4986]

3. SDGs 4, 5, 11, 17/=a g it 4, 5, 11, 17 [Option 1D = 4987]

4. SDGs 8, 10, 12/um =15kt 8, 10, 12 [Option ID = 4988]

Correct Answer ;-

& SDGS 3, 11, 14, 15/ma =tk 3, 11, 14, 15 [Option ID = 4985]

33) Among all recorded species in the world, India accounts for about

fare 3 Froord B o w1l ganfernl 3 3 siza A cene Rash genfeat 37

[Question ID = 1248][Question Description = $2_qSNz_PG_GP16_Q38]

1. 7-8%/7-8% [Option ID = 4989]

2. 10-12%/10-12% [Option ID = 4990]

3. 15-18%/15-18% [Option ID = 4931)]
4. 20-25%/20-25% [Option ID = 4992]

Carrect Answer ;-

s 7-8%/7-8% [Option ID = 4989]

34) In respect of Biochemical Oxygen Demand (BOD), the permissible Indian standard for discharge of treated effluents in
Inland Surface Waters is

SraerrRern siiasdiara wier (4 o 31) @ Haer 3, ot alk:ama @t sea-rercha aadl sa | sisa @ eyl aeo axn 8 7

[Question ID = 1249][Question Description = $2_q5Nz_PG_GP16_Q39]
1. 5.0 mg/L/5.0 fimp/ =it

[Option ID = 4593)
2. 6.0 mg/L/6.0 Beg/ ot

[Option ID = 4994]
3. 15.0 mg/L/15.0 e/ <t

[Option 1D = 4995]
4, 30.0 mg/L/30.0 R/ =

[Option ID = 4996]
Correct Answer ;-
e 5.0 mg/L/5.0 fep/ ot
[Option ID = 4993]

35) Which type of power plants uses the least land per unit of GWh energy production?

fepa g @ fagga wiie g sors sienarc der (S0 socg va) Sef Iruica o iy il s o o Jusle] B & ?

[Question ID = 1250][Question Description = $2_qS5Nz_PG_GP16_Q40]
Wind /ueet [Option ID = 4997]

Coal/=rmen [Opticn 1D = 4998]

Solar/=iz [Option ID = 4999]

Geothermal/sipmdir [Option 1D = 5000]

o R
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Correct Answer ;-
* Wind/mwmm [Option ID = 4997]

36) Which of the following are the major recommendations of the NEP-2020 related to higher education?
A. To increase GER from 26.3% to 50% by 2035

B. Establishment of world-class universities

C. 'Light but tight' regulation by a single regulator for higher education

D. Promoting research in science and technology

E. Opening of 1500 more universities

Choose the correct answer from the options given below:

oot € f - 2020 3 3ca e @ e i BeafiBaa d 3 oia @t gz Rreifdl 37
A. Sifany ot 26.3% I aeroy 2035 aw 50% aan

B. g - Ferdler Reaffemest @61 Fenaen

C. 3ca Bign @ e v fRAiftrmms grr ‘st fg wolz (orst ac ose)’ Rifsas
D. fRrsor iz gienf3rdt 3 ofter wt agrar Sorr

E. 1500 siiz Rreafienarr wncen

ofld R 1w Rraseal 3 A 78 30 o awer Hifswe :

[Question ID = 1251][Question Description = $2_qSNz_PG_GP16_Q41]

1. Aand B only/&am A 4fis B [Opticn 1D = 5001]
2. Aand C only/@aa A iz C [Option ID = 5002]
3. Band D only/@aer B diz D [Option ID = 5003]
4. Dand E only/<wea [ afiz E [Option ID = 5004]
Correct Answer :-

& Aand B only/@aa A sz B [Option 1D = 5001]

37) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Choice-based Credit System (CBCS) is adopted out of the need for flexibility in the education system so that
students, depending upon their interests and aims, can choose interdisciplinary, intra-disciplinary and skill-based courses,

Reason R: The majority of Indian higher education institutions have been following a marks or percentage-based evaluation
system, which obstructs the flexibility for the students to study the subjects/courses of their choice and their mobility to
different institutions.

In light of the above statements, choose the most appropriate answer from the options given below

oir 3 ere f2u s § ¢ uen arfdrperar (Assertion A) @ wu 3 iz g1 suas weor (Reason R) @& wa 3

sfirperm (A) : foren gonelt # orficiast 6 wis @t eana # 7 g faweu - snenfsa S Beyonedt (3 &t 2t va) o sraarn E afs o sush
sifSrsfral aiiz s2ewl & sorae 3iaw - Rraww, srafraes Aty oo snenfya moragHAl o1 aver ©F A

aoreor (R) s a aiffrosior oo fren Hwend sty = gftrer snenfyar woaiome qonedl @ sroparcror w2 38 ¥ ;) Rradt wigl o) sraeht v @ ol
/ Fzersi @ dia gadbt sifvelier i odicdas # aen et

IURE el & A d, Jdk R fawodl # 31 3 saz o1 o= Hifsre
[Question ID = 1252][Question Description = $2_q5Nz_PG_GP16_Q42]

1. Both A and R are correct and R is the correct explanation of A/{A) #fiz (R) di=l 2 & ofiz (R), (A) &t =2 =oen & [Option ID = 5005]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) & (R) o= =2t & ey (R), (A) & 58t smeem =3t 2 [Option 1D = 5006]
3. Ais correct but R is not correct/(A) 3t 2 momg (R) mdt =ff & [Option 1D = 5007]

4, Aisnot correct but R is correct/(A) wdt =f 3 womrg (R) =8t £ [Option 1D = 5008]

Correct Answer :-
# Both A and R are correct and R is the correct explanation of A/(A) iz (R) 2=t &2t £ 5fiz (R}, (A) &1 =2t som=r & [Option 1D = 5005]
38) Nalanda was established in
oircicl W1 Femuell wd 5% ot ?

[Question ID = 1253][Question Description = $2_qSNz_PG_GP16_Q43]
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2nd century/zzzdt ermeel [Option 1D = 500%]
3rd century/disd st [Option ID = 5010]
4™ century/dlelt gt [Option D = 5011]
5W century/giaet giamet [Option 1D = 5012]

a2

Correct Answer ;-
e 209 century /Rt srreat [Option 1D = 5009]

39) Arrange the following states in descending order in terms of GER (Gross Enrollment Ratio) in higher education.
A, Tamil Nadu

B. Kerala

C. Uttarakhand

D. Sikkim

E. Himachal Pradesh

Choose the correct answer from the options given below

Feal 191811 A Fepe siidinel Aeurd (i € sme) &bl efte 31 BrsiciRaa sl 1 srR1d! @ 3 3 ¢
A. miiBrcrons

B. @

C. Fnasws

D, fhikrea

E. RRammer geer

oll 6w a1z fameul d 3 1l v @I ws it ¢

[Question ID = 1254][Question Description = $2_q5Nz_PG_GP16_Q44]

1. A, B, D, E, C [Option ID = 5013]
2. B, A, D, C, E [Option ID = 5014]
3, B, D, E, A, C [Option ID = 5015]
4, D,AEC

» A, E, C, B [Option D = 5016]

Correct Answer :-
» A B, D, E, C[Qption D = 5013]

40) 'Deemed to be University is established by

Sles Rrafaenem’ &1 Femaon fooaay g &t @l 2 7

[Question ID = 1255][Question Description = $2_gSNz_PG_GP16_Q45]

1. An act of the Parliament/3ize @ aféfsemr gzt [Option 1D = 5017]

2. An act of the state legislative assembly /= Rena #an @& afferwr gzt [Option ID = 5018]

3. A notification of the Central Government on advice of the UGC /= 2t 5 sz v weg, wwpe @t sifiraen g [Option ID = 5019]
4, A notification of the UGC on the advice of the State Government/ 71 = 4 Jons W g4t 2t 5t affemen g [Option 1D = 5020]

Correct Answer :-
® An act of the Parliament/==s @ aiffee g [Option 1D = 5017

Topic:- GP_24NOY_5SH2_C

1) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another, This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like, Maybe you consider their personality abrasive, Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual’s actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
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weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

Rraftifiaa seEner ot saergede ug sfiz gral © 3= §

WARHE 9JF I LI Tl & @ IGloIRl @ RRiel A A & Ry wara® 9 oPRPT YRb AePNR @ 00 QEilbne & AUs! Yaiurd
AT 3 A 2 DA T8 JVET T8I 2 5 ama anger HemhiRl & Arer Rise =aanr o1 iz Agugul =maer of ©f  wd gelidl aq 3cus Bl & aa
il o Redt smaen @ gefdia ween usr 3 aafis @ @ oxdl sk #sss @2 @ e € us RnisiR wmarers Reisii weakdt § iz 9
Farzea @ fore siforens B aadt @ @o1, @i i 3w & aza aaer A AT HIaeIcAT oKETE Bl § oz cafts e ae BU A g AR E
HraetvHw fRzisher Hdswenens Rssifer & waer 3, Brar sad 5 waenens Rzt Riaa @ aarn sirgeasi 3 ddféa 8l 3 gquelt ort
foreaies & U Y@ g0 D B9 A HAARHS 9 # aaaniil B grirear o Jesn At | e as 95 il @ e gfitven srusa
DHNE  AUD! TH il @ AL O Tl Usdl 2 [oied s faoragd usic ol @3 8 8 Wodl 8, 3 Joids oftoed ©f auad! A 8 8l
Fnan & Rp sma w1z sten &l fe sesial anaed dic S sio aR d oioRKkens and Wit 3 s aIasls, AE ASPIR BF IRE sunt o el ©
A1 Toridieg eIz Uz sid:iooen wwoll usdl 2 seiiee anmussl dAdisna o1 [ o usar & [veds, ale g Aarasnsil ol Mopsfd Wrasiisii a1
gehia sireaersil 3 srest-sreet @ w1 d sEA gt aael Asen # Asraar B awdt 3 sepn wrond salke B arafis sraend St E
zum faulla, gehia waend 4 2t 2 licd o1 Fivtod [0l ©ri g & e ol g1 yehia fise smer & aris wmaen 2 iz 3oé affm
HloTell 2 o sfatclizer wraen gl 2wt & ; o Mt 31 wraemd 2kit 2 =i goorz & 3 31 sifrasier &el Sireral 2 b sael fpeht cafep o aifear
FFwR 3 ga Yoibia wea & amzn G et §, wd & aa 3 e O ey o) v g Ael @ of AE an ends-aaRiE # Yo Bwa &
e i Sl 3, Het & &H Yool HEH DI AL of DY 9l Az golfcd & fis orf Terdl uz us e & sl 2 s & Ao Yool iz
IeaE SiA ANyl o) gofdia wren wifde aer we, w@ier, s i sraene SEA s swnal ot siia avsenr e

The basic principle of emotional labour management is:

HIAGIFAD 9t gaerot w1 giernd Rigia 3

[Question ID = 1256][Question Description = $2_qSNz_PG_GP16_Q46]
1. Be less hostile to other emplovees/ s aebmfisl @& gfft w1 Riga 2z [Option 1D = 5021)
2. Entertain only limited interaction within the organization/ s o sierz W liSwT sirfen ween [Option D = 5022]
3. Be polite to co-workers/3==RE! & g Bew 32an [Option 1D = 5023]
4. Do not show your frustrations/sefl maral =) ggieia & sar [Option 1D = 5024]

Carrect Answer :-
& Be less hostile to other employees/ sy kil & gy o3 fadw ==wan [Option 1D = 5021]

2) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs, But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emoticnal
exhaustion and burn out. Emotional dissonance is like cognitive dissohance, except that emotional dissonance concerns
feelings rather than thinking, It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. S0 you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt,

fBramteri3ae sraxior o) taregde ug iz gual @ sav

HIACHD 95 Bt arrenvorr Frar S D AserE @ Aeweer A ol B Rveg sracAc o eEpET Qedo Asenr & fore gruafics 3 smaot geers
1T 3 B A A AE AULT TER & Ko ama suel Hepiil & Al R saer ®f it Riguynt <aer o o a<=dl gelidl aa scus 2t & s
@afenfrl @t fopeit siaen &) yghfa owon usa & 9afes @ S gadl o #EgA o 1 A0 2 A fasie waenenss farisif weardt 2 oz a
TR B T siforores Bt ol 2 o1, @l 3z 3u &t ava smen A T HIGEIRD ¢RETA Bl & iz -aflis MaArds FU A £ SR 3
Widelch il sismeneaes st & e 2, Bram o fop snaerass sl Rivor & aairmr siaornadl 31 ddfinT 2t 8 qurdt ort
farsargar @5 wis gy G O S A HKaarHe 9H # smaoisil Bt graifrrar o wwsn sar 3 urkecacs o vkl @ e gfden sraser
I & AMUh] B il O AT B HIdl USdl 2 oied 3na [derpa ueic oiél ol & 2l 3I<hel 8, 30U Jokb oiftbrd oI 3uaddf dAerd 81 &l
A 2 6 ama A1 S 8 75 3ogier amud s i anud an 3f areRcas ard ©al & T3d aagg, AUt ANz &t IR ! sof el o
A1 forifdi stz uz si:fen wwelt aslt 8 swftie amast Frjtvr @1 wmar o usar @ Ridmrps, aid ama s @l gy Sesiai an
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gofdia siraerrsit 3 sremr-3reet o 7 |l 393 saai saa Asenr f Asram Bier aodt ¥ sopm saend salRe & araliie sraend it
s frafla, gelfa suaar 3 2 F Ricd B¢ disron sl orf Rda & Rie wsfafil zra geRia fse sma 61 ardten z=ar & diz ok okm
At & siafeida sraand adl g1t ¥ ; il o1 sngand Bkl ¥ w2l goone sw A A afreior aier snerd E B saa Rl safte @ siftm
FHEwR 3 ga Yoibia wea & amzn G el §, wd & a5 3a cafte O 9oy ) v SR Ael @ o AE e ens-aaRiE # Yo Bma &
et &l sl 3, ot & B Yool HEH DI AL of DY 9l Az golidd & fos orf Tedl uz w1z amtan &I sl 2 s &t smarewd: YHoolan iz
Ieas i AwRens Hl o) gqofdia wen wifde aenr e, wier, s iR e SEA s snal ot Shia avsenr e

Within an organization, emotional dissonance affects
Rpaft Fsroa # siraencerr Rd=si Rl gqunfya ot 8 7

[Question ID = 1257][Question Description = $2_qSNz_PG_GP16_Q47]
1. Cognitive consonance fssmemerr amarn [Option 1D = 5025]

2. Effective job performance/gurdt wrt Brama [Option 1D = 5026]

3. Solutions to labour issues/sp #igi wr wemae [Option ID = 5027)

4. Constructive thinking/sencaes Riaer [Option |D = 5028]

Carrect Answer :-
& Cognitive consonance/Saemca® ag=am [Option 1D = 5025]

3) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissenance concerns
feelings rather than thinking, It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt,

fBrrafer¥e sreior @) taregde ug iz gual @ sav

HEECFE 95 OBt sraenon Fax & @ Asrer @ tIrror A 3ud B Rveq saenes o TETET gl Asenr @ fore greifiir § st gaers
ATa 3 B A A AL AULT THER & e ama suel Heniil & A B sraer o8 it Riguynt =aer o o a=dl gelidt aa scuse gidt € s
avefanf¥all @l fpeh siraen @5t gohia weon usar § safls & o1 call swaar #saA @ B A0 3 as Resil sraenoas Rizieker weeed 3 3z o
FaRe @B fore siforores B ol 3 o1, @ler sz 3w &t ava swmen A T HIGEIRD ¢RBTA Bl ¢ 3z -aflis MaArds FU A T SR 3
Widelcas sl sismeneaes vt & e 2, Bram sad o5 snaenass fsisia Rivor & aairRr siraornadi 3 A4t 2t 8 qurdt ort
farsarcar @5 o5 gy G O B9 A HEKAErHe 9 # sraonsil Bt grzifrarar @ wwen s 3 vkeea o vkl @ e gfden sraser
DI & AUDh] B cliall 5 T8I B HIal USdl 2 led 3ma [derpa ueic ol ol & 2l 3<hel 8, 30U Jokb oftbrd o uadd] dAent 81 &l
Foen 3 By ana a5 s 81 By sodiar s dic Y anad ai 3 orvraeae wid oft ¥ sad aragg, sradl deenz B il snowt s el ©
A1 forfd stz uz si:fen el ast 8 swftie amust Frjia @1 wmar o usar @ [idmrns, aid ama sraosil @l 3y Sesiai an
g sraotrsil 3 srcreT-arcreT @ W dl FHA AUDY el AP H Aerr fiel edl 2 s daont sl 6 aralds sraend kil 2
sad Rrafta, goldia swwaane 4 8kt 3 Bred o1 doroa el o Ridg @ e wefafe srer gofifa Bee soer 6 srden ysran & 3iiv 363 s
ALEN & 4 sicfolida wiaand «dt aiedl 3 ; d 2ilwdl o8 sgeid 2kt 2 320 yore za & 31 af2roior ol sierd 8 ko sael Readl calts © sifva
Frwr # gw yofdia weer B srden &t sl 3, 3@ & 50 ga wafs 6 gy o1 ow st Wt ar o1 sk asn and-AREs 3 gaea R 6
e ot SIRdt 8, wcl 8 59 Yookl ASI W A1 of e 9ilel g gorla & B wrl T 1w ug siian ot =il & Ry 53 SRt gRicor 3
3CHIE S ADRHS Wl DI Yohia dmron anfde aem wer, @ren, sl ofiz aadrer St bR siral ©1 i oo afzu

In a workplace environment, labour managers should give preference to:

BRI Ferel I arrv # 9 gdte! ol forraiiifiaa 3 3 Rl grafinear ¢l mize ?

[Question ID = 1258][Question Description = $2_q5Nz_PG_GP16_Q48]
1. Displayed emotions/goiia srgensi &1 [Option ID = 5029]

2. Felt emotions/ srepRT smgenadl @t [Option 1D = 5030]

3. Negative emotions/wmRnrs s o [Option 1D = 5031]

4. Expressions of frustrations/merl 1 atésales @1 [Option 1D = 5032]

Correct Answer :-



www.prepp.in D re p p

Your Personal Exams Guide

s Displayed emotions/ggizia smenai & [Option 1D = 502%]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees [contractual Employees
l::I‘Ehlj‘artmﬂnanc::t.a\[ NumbEJIE:tm Total Number |M—|7Ratlo
F F

IT 250 1 |1 |240 2
Accounts 123 2 |1 [130 3 |2
HR 90 3 (2 |30 z N
Marketing (350 5 2 [343 5 2
Production [304 5 |3 [351 5

Rrraftifiaa sterier ot saergede ud sfiz gral © I §

WD 9 Tl ARIEIRVIT AT 21 O USEIRI W IHERIel A 3t & Roog sIaraes 9pi oPnEl gl AseR o e grilfer @ amus geatRs
1T 3 B A A AC AULT THER & [ ama suel Hephil & Al B saer ®8 it Riguynt =asr o o adl gelidl aa scuso gidt € s
avefenfyall @l fpeht siraen @5t gofdia weon usar § safds & o1 gall swaar #EHA @ B A0 3 as sl wracnraw Riziekr weeed 3 30z o
FaR @ T siforores Bl ol 3 @or, @ler 3z 3w &t ava wmer A T HIGEIRD $RETA Bl ¢ iz -aflis Maerds FU A £ SR 3
WidelcHs e sismeneas vt & e 2, Bram sod o6 snaenrass fsisia Rivor &5 oo siraoradl 3 4t 2t 8 gt ort
Rrures @ v yg g D U A HRERAEE 9 # saeindii B YrRiBRear o JeIE S 8 ARG 9 il @ e giten sruea
I & ATUh] B il & T8 B el USdl 2 oled 3na [derpa ueic ol ol & 21 3<hel 8, 34 Jokb oftbrd o 3uad] dAerd 81 &l
Fwen 3 By ana 4 s 81 By osier sy dic Y anad i 3 orevraeae wid oft ¥ sad aragg, Jadl deenz B il snowt se e ©
A1 Toridie ez Uz sid:iaoen wwoll usdl 2 seifere anuss! dAdisna o1 Camr ol usar & [veds, ale g wiasnsil o1 Moffd WIasiisii a1
g sraoIrsil 3 sIcreT-arcreT ¢ W dl FHA AUDY AUel AR H Jerr fiel il 2 e Haot safi 6 amalds sraend kil
s foada, geldia soaeid 4 gl & Bied ©IE Fe1ee [l orl gy @ i welnil orer yghia Ree smer & arign swaan 2 il 368 aftm
Al & 4 sicfeliza sraand &dl dicll 3 | 4 izl o wraad ikl 2 52l yorz & 3 3 af2reiet el sierd & &6 gaRl ezl cale © il
Frwr # gw gofdia weet @ srden &t sl 3, 3@ & 50 g1 wfe 6 gog o) ow st Wt ar o Asl asr and-AaEs 3 gaca R 6
e b wndt 2, sict & G Yool A ™ Al o e 9IieI AIE golld 2 s Rl Ferdl uz e e &I siwdl 2 e #3 s Yoo iz
3CHIE S ADRHS Wl Bl Yoihia smron anfde aem e, @ren, sl afiz aadrer St oibRIeaRe Hal @ offe oo mifzu

Which of the following feelings one should feign at a workplace?
A. Fear

B. Excitement

C. Contempt

D. Happiness

Choose the correct answer from the options given below

BRI Fera uz kel cafts @I hwafatiaa i 2 wia H vraemii o1 R @wen mige ?
A, =

B, scame

C. gar

D. gzl

iy v a1e famsedl i 2 218t e gl @

[Question ID = 1259][Question Description = $2_qS5Nz_PG_GP16_Q49]

1. Aand B only/@am A #i B [Option ID = 5033]
2. Band C only/wa= B diz € [Option 1D = 5034]
3. Cand D only/fwerr C sz D [Option [D = 5035]
4, Band D only/faeT B stz D [Option 1D = 5036]

Correct Answer :-

o Aand B only/dsmm A iz B [Option 1D = 5033]

%) According to the passage, effective emotional labour management involves :

SEL9] @ Aollz, YUK Haelcas oA ydeicl # gar afdalera e & ?
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[Question ID = 1260][Question Description = $2_qSNz_PG_GP16_Q50]
1. Acceptance of emotional dissonance/ srmmeae g @5 =diiwela [Option 1D = 5037]
2. Free expression of feelings of frustration /ot <3 s 5 5 sfdcater [Option 10 = 5038]

3. Display of friendly emotions/ ficfiget sirmenat @ geeler [Option D = 5039]
4, Sidetracking the learned emotions/siizdt o srremart @t urf 3 Fzwem [Option D = 5040]

Correct Answer :-
& Acceptance of emotional dissonance/ smaenraes Beeif &1 sdterfar [Option ID = 5037)




